BILL OF MATERIAL

MARK | QTY DESCRIPTION LENGTH ABM # REMARKS

MK-D100A

1 1 |MK-D101A ~ PPRB6 WELDMENT

N

MK-D102 ~ FOOT PAD ASSEMBLY

3 1 |SIEMENS RB1 GEARMOTOR (SEE 1-1
MOTOR DATA LIST)

4 5 |PALLET DRIVEN ROLLER, DUGOMRULLI
PART NO 329638V

APPLY BLUE 5 2 |PTI ~ OWFZ207X35A_35 MM SHAFT 3-1

T R ) : . LOCTITE DIA., 2 BOLT FLANGE BEARING
1 == Lk - 6 | 5 |GATES POWERGRIP GT4 BELT ~ 2-1
2400-8MGT-85
7 1 |16 MM DIA. X 85 MM LG HEADLESS 33

FIXTURE PIN HARDENED AND GROUND
W/RETAINER ~ E&ESP #16-85-MHR

8 1 |MK-D116A ~ DRIVE ROLLER SPACER

1207
B/B
|

9 1 |MK-D116B ~ DRIVE ROLLER SPACER

E b ke e v : 10 | 1 |PALLET DRIVER ROLLER, DUGOMRULLI
p— —— | T amrus i , i R () PART NO 332192V M12

R ) 11 | 2 [MK-D114A ~ STATIC WHEEL ASSEMBLY
S — e — e 1 1 A
o —,_—__|t:-—r - et T SSIJECEE?E:ICOC - e / 12 | 1 [MK-D240A ~ RF CODE READER BKT
1 _'H_—_-_— - i . - ‘g 13 | 10 [MK-D121A ~ ROLLER WASHER
=3 —F— » i SRias o | W ; 14 | 1 [WCS3B-LS310D READ HEAD ~ 4-1
IBX@/ : ‘ PEPPERL&FUCHS
15 | 1 |WCS-MP1 ~ BAR CODE READER MTG 4-2
RF READER PROVIDED ENLARGED VIEW 'E' PLATE ~ PEPPERL&FUCHS
8x BY OTHERS @ SCALE 3'=1'-0" 16 1 |MK-D119A ~ ENCODER READER MTG PL
17 | 1 [MK-D119B ~ ENCODER READER
HORSESHOE PL
12 18 | 4 |[SMITH BRG #MCR-72-SB ~ 72 mm OD X 3-2
228 0 29 mm W, W/24 mm STUD X 49.5 mm L AN
5 SPACES © 1065 < 5325 19 | 1 [MK-D121B ~ MOTOR END SPACER /EN
1609 O/A 20 | 2 |MK-D120A ~ END COVER PLATE
A r R e 21 | 1 [MK-D120B ~ MID COVER PLATE
F/F 22 | 8 |L4x3x3/8 (SHIP LOOSE) 6"
8 T 23 | 4 [M12x1.75x 30mm LG. HEX SOCKET
HEAD CAP SCREW
24 | 1 [M6x1 x 16mm LG. HEX SOCKET HEAD

CAP SCREW

25 2 |[M8x1.25 x 25mm LG. HEX SOCKET
HEAD CAP SCREW

26 2 |M8x 1.25 STOVER LOCK NUT

ol 2y
© S ~ 29 4 |M3x0.5 x 10mm LG. HEX SOCKET HEAD
CAP SCREW
_i P Y 30 2 |M10x1.5 x 16mm LG. HEX CAP SCREW
- 31 8 |M24 x 1.5 HEX JAM NUT
32 18 |NO-SLIP CLIP-ON BARREL NUT-M10 X 3-4
_ (WELD AFTER FINAL ASSEMBLY) 1.5 MM ~ McMASTERCARR PART #
8 @ 95210A240
33 18 [M10x1.5 x 25mm LG. HEX CAP SCREW
MK-D100A ~ PPRB 6-ROLL ASSEMBLY 34 10 |[M10x1.5 x 25mm LG. HEX SOCKET
SCALE 3/4"=1'-0" HEAD CAP SCREW
ENLARGED VIEW ') 35 13 |M12x1.75 x 40mm LG. HEX CAP SCREW
@ SCALE 1 1/2" = 1'-0" 36 5 |M12 SPRING LOCK WASHER
| | | | | | | 37 2 |M5x0.8 x 12mm LG. HEX SOCKET HEAD
S ?_ | pr— | _? S S (=) ?_ I | _? S ;l_,,, 4 =) €|>_ | pr— | _? S CAP SCREW
N e T‘FI_ - | | LT R g Ak = SPEED FORMULA (60HZ): 38 | 2 |M10 SPRING LOCK WASHER
—_— = = | =t —_— — _ . ) 39 12 |M12 NARROW FLAT WASHER
| | T X1740X 1 X 140 =56.2 m/min = 184.5 ft/min 015 M2 % 175 STOVER LOGK NUT
| | RE. 13.61 1000 41 | 1 |10x8x 140 LG. ROUNDED 16-1
| I RECTANGULAR KEYSTOCK
| | h 43 | 2 |M6x1 x 20mm LG. HEX CAP SCREW
1 - ~ — | — — - — &/v 44 2 |M6 NARROW FLAT WASHER
TRAVEL
| | —5 TOTAL WEIGHT = 3152 Lbs
HEp— N Ep—— —
{ B SHOP NOTES:
' __ o | /‘ B f - ' 1. ALL MATERIAL IS TO BE FREE FROM RUST,
] i 11 | — i SCALE & WELD SLAG
== 'I ! — L = | . 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
— | | © o— | | —€|> N _ 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS DELETED ITEMS 27, 28 ADDED ITEMS 43, 44;
F 4, ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED F MC |8/12/2022 SCREWS CHANGED M5 TO M6
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
e 5, 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 E MC |7/27/2022 |ABM # ITEM 18, ADDED ITEM '41', ADDED LOCTITE
X X 19 35) (3 AND ZINC PLATED ITEM 30
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 2112/2022 REVISED MOTOR PLATE, FRAME WELDMENT, SHOP
36 APPLICABLE) WITH MK IDENTIFIERS. D MC 12/ NOTES AND ADDED BOLTS
SCALE 3/4'=1-0" REMOVED FOR CLARITY) B | MC | 7/1/2022 | FOR FAB
10 A | MC [5/27/2022 |FOR APPROVAL
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
4 < VATERIALS: MILLER INDUSTRIES BT AlD CONFIOENTIAL
—%:—5 N\ - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
\ - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. . . AS WHOLE WITHOUT THE WRITTEN
! = ===l Héf\ég OTHER MATERIAL TO BE ASTM-A36 U.N.O. SVUW\? :nonggo(?ﬁ% FAX: 810.373.0326 RSSO protiBITED, e
I C ) C ) :
o UNLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. )
D@W@Z)%ﬂg%{%gw X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: SGS
o (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
ENLARGED VIEW 'D' - J— e i € o INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY: | cw
Now: tat 18375 b e com ' o \ WELDS: “ “ CLIENT:
SCALE 6"=1"-0" - @@ ENLARGED VIEW 'H' Fi/:l%TL|€SN§i1§;3/$§ PA@LTL. WELDS TO BE "E7O0XX". (PER AWS D1.1) VOLVO DWG DATE:  |5/24/2022
ENLARGED VIEW 'G ENLARGED VIEW 'F' 33 MAGNUM JOB #: 1875 BREAK ALL SHARP EDGES ' :
SCALE 1 1/2"=1'-0" SCALE 3"=1'-0" S céEégT PER CUSTOMER SPECIFICATIONS U.N.O. DRAWING No. REV: JOB No:
SCALE 3"=1"-0 MAGNUM DRAWING #: 1875D100 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 1875D100 F 22096

J:\Job #1875\New Job Drawings\Issued\22-08-12 D100 Screw Update\1875D100 - REV F.dwg




BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D101A
1 1 |MK-D103A ~ SIDE FRAME
2 1 |MK-D104A ~ SIDE FRAME
3 1 [MK-D105A ~ MID FRAME
4 2 |MK-1875D106A ~ END FRAME
- 5593 mm [18'-4 3/16"] 5 4 |MK-1875D107A ~ INNER CROSS
B OVERALL MEMBER
- 5513 6 1 |MK-D110B ~ INNER CROSS MEMBER
WELDMENT-RH
- o » 7 1 |MK-D110A ~ INNER CROSS MEMBER
| " 58 8 ZX 3y g1 St WELDMENT-LH
EAA i j 8 1 [MK-D118A ~ BAR CODE READER BRKT
45— 9 2 |MK-D111A ~ MOTOR MOUNTING PLATE
Q | [=] [=] Q ‘ _ ~
0 "= — 1 = 10 | 10 [MK-D111B ~ RETAINER
T ~Iz T _ 11 | 2 [MK-D227B ~ STIFFENER PLATE
12 1 |MK-D111D ~ CLEVIS
13 8 |[MK-D112A ~ LEG ASSEMBLY
\@ . 14 | 2 |MK-D113A ~ BRACKET
' § 15 2 |MK-D113B ~ ENCODER BRACKET
e B B 1 - _; B B B B | B i 16 | 2 [P1000 UNISTRUT 8"
‘ ! @ £ 17 1 |P1000 UNISTRUT 1'-6"
687.25 E |2
. 5 § 18 1 |P1000 UNISTRUT 11'-7 1/4"
_ A ———— = ~° 19 1 |P1000 UNISTRUT 1'-0"
- 20 2 |M8x1.25 x 25mm LG. HEX CAP SCREW
o ' A 21 4 |M8 NARROW FLAT WASHER
!E 5! == !Eg]! | ; 22 | 2 [M8x1.25 STOVER LOCK NUT
1207 L AL A — — —— ' : TOTAL WEIGHT = 1175.5 Lbs
1252 '
2 (15)
10X 1 1
SECTION 'A-A
SCALE 3/4"=1'-0"
NOTE:
SEE DWG. 1875D110 FOR
MACHINING REQUIREMENTS
MACHINE AFTER WELDING IN PLACE
. 3289 _
e 1065 30 \ e 1065+ 30 e 1065+ 30 s 1065+ 30 0 1065+ 30 o . 1207 N
“ HOLD '
. ;X T o
o - < -
3 c\/ & =
) / \ / =L l
i ™ — ™ 0 -1 ™ 7 =] —\" TR -1 T
s - O —— —+ R —°)\ ] i\ - o ) - I
s B N samnl T~ Tt ™
Nl | S| 1 i 'S |
|z
1
X
. 516 L 1708 1708 L 516 N
TYP. ALL
UNISTRUT
MK-D101A ~ PPRB6 WELDMENT
SCALE 3/4"=1'-0"
| V I
L
11720
————— lgﬂhﬁtﬂ:——_ Z Z Z A, | IZ ZZ é! V7N !
\
18.60 | | \@
SHOP NOTES: A
1. ALL MATERIAL IS TO BE FREE FROM RUST, g
SCALE & WELD SLAG ol
2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE c | mc |7/12/2022 |REVISED MOTOR PLATE, FRAME WELDMENT AND
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS : Y SHOP NOTES
4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED SECTION 'E-E' B | MC |7/06/2022 |GUIDE ROLLER MOVED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS R ) SCALE 3"=1'-0" A | MC |7/01/2022 |FOR FABRICATION
FILLET UNLESS OTHERWISE SPECIFIED. ‘ REV| BY DATE DESCRIPTION APP
6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED . REVISION HISTORY
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE e | CEUERALNOTES MILLER INDUSTRIES rroETae D conENTIL
APPLICABLE) WITH MK IDENTIFIERS. - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 UN.O, 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
8. ALL SLOT LENGTHS ARE END TO END U.N.O. - ALL TUBE MATERIAL TO BE ASTM AS00, GRADE B UN.O. FENTON, MI 48430 OB TION I AT O
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. PH: 810.373.0322 FAX: 810.373.0326 AS WHOLE WITHOUT THE WRITTEN
PAINT NOTES: Héﬁéé OTHER MATERIAL TO BE ASTM-A36 UN.C. www._mille.com PERMISSION smomiaimen VS TRIES
PAINT ALL FABRICATED STEEL ' "
B 252 L 166 UNLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. :
ONE SHOP COAT OF LIGHT GREY RAL 7035 - - = D@W@Z)%ﬂ%&\ﬁ%gﬁgw X = .060 ' - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
Il (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
- ENLARGED VIEW 'C' 1700 Gardentraok R rone:  (248) 773055 € KX = £.030 INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
ENLARGED VIEW 'B SCALE 3'=1-0" e G e e WELDS: CLIENT:
SCALE 1 1/2" = 1'-0" AN%LI?S 3;1_0/3/0? PAIﬁI}L WELDS TO BE "ETOXX". (PER AWS D1.1) " VOLVO DWG DATE:  |6/13/2022
MAGNUM JOB # 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS UN.O. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D101 DO NOT SCALF DRAWING _ ALL RENTRANT CUTS TO BE A MIN 1/2' RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Details\1875D101.dwg



BILL OF MATERIAL
DESCRIPTION LENGTH ABM # REMARKS

MARK | QTY

MK-D102
1 1 |BAR 3/4x8 1'-4 9/16"
2 1 [Medium-Strength Steel Threaded Rod
1X8 UNC - 7 In Lg._Grade B7 -

420 McMASTERCARR PART #98750A510
3 2 |FLAT WASHER 1.0625 ID x 2.5 OD x
0.306 THICK

4 2 |1-8UNC HEX JAM NUT

203

181
19

55

19

GRIND FLUSH
AFTER WELDING

MK-D102A ~ FOOT PAD ASSEMBLY

SCALE 3"=1"-0"

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.
2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.
3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS,
ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE
FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK
NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE,
WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO
PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

@27 mm [@1 1/16"]

10 mm [3/8"]

19 mm [3/4"]

/ @27 THRU @64 mm [B2 1/2"]

A ~ i

PAINT NOTES:

PAINT ALL FABRICATED STEEL
ONE SHOP COAT OF LIGHT GREY RAL 7035

203 mm [8"]

105

25,

i

185 185 J

1

- @28 THRU
(2%)

420 mm [1'-4 9/16"]

DETAIL OF ITEM '1"

SCALE 3"=1'-0"
GENERAL NOTES:
MATERIALS: MILLER INDUSTRIES P ap CouFoETL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, MI 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.O. PH: 810.373.0322 FAX: 810.373.032 AS WHOLE WITHOUT THE WRITTEN
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O. WWV\? I‘T?Iﬁ) 2 o?ﬁ +810.373.0326 PR S O R INDUSTRIES
HOLES: : :
. - ALL HOLES ARE 13/16" DIA. UN.O.
UNLESS QTHERWISF NOTED: .
D@W@)}%@%{%ﬁ% ot 060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: SGS
il (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardenrook o prone: 4o 773055 XX _Jjoggs INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAM P U S B U | LD | N G CHECKED BY: CW
uite 125 ax: - : o= WELDS "
Novi, MI 48375 Web: www.4Magnum.com FRACT'ONS - 11/1 6" . . CLI ENT.
- ALL WELDS TO BE "E70XX". (PER AWS D1.1 .
ANGLES = +1°/30 e ( ) VOLVO DWG DATE:  |6/13/2022
MAGNUM JOB #1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D102 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

Syg¥o @>\\ -

DETAIL OF ITEM '3’

SCALE 6"=1'-0"

A | MC 7/5/22 |FOR FABRICATION

REV| BY DATE DESCRIPTION

APP

REVISION HISTORY

J:\Job #1875\New Job Drawings\Details\1875D102.dwg



BILL OF MATERIAL

MARK | QTY

DESCRIPTION LENGTH

ABM #

REMARKS

MK-D103A

1 1 |PL3/16x1'-13/8"

18'-4 3/16"

@ 13 mm X 28 mm
THRU SLOT (9x)\

é R4.13 TYP. |

T
N
0
ENLARGED VIEW 'C'
SCALE 6"=1'-0"
55— h
|
0— = T L T e e e e e e e e e e == T oo ] e e e e e o o o o S s e e e e e e e T S == e e =g T T e e e e e e e e s e i i C
30— —€p— —— —— / \ —— —— —— =
45" |
-%e @ 228 & B zz8 & = AREC T T T 1 E/ A ikda ?oog ey SR RoRR ﬁé‘"ﬁa
0 Vadla / 49.05 \ )) | KK ) \‘ L
18.5 —|I [y 5 ' | BER ' " )
X = - —
98.5 — -
151.5 —|| _\—|=| ——— | (—— I ——— N — | 140_—+_ (—— I ——— I — | (— N ] (— N T — ] || <
192.5 N % 76_/_|] LB | L 0 J[IJ I ﬂl 0 "
I 7 "EPL_" . N N = | N I R IR Y |
MK-D103A ~ SIDE FRAME
SCALE 1 1/2"=1"'-0"
5593 mm [18'-4 3/16"]
C
7 [© ~ ~ o ~ ~ ~ ~__© o ~ ~__ BENDDOWNO90°R4.1® — ~ I ~ ~ ~ ~ ~ o ~ ~ ~ ~ ~ S ]
c Y, \/ — YV 3 + 4 7 == Y o /o
E 0 0 0 0 0
” _ﬂ_ _ _ _ _ _ _ _ _ _ _ _ _ a _ o _ _ _ _ _ 0 _ _ _ _ _ _ _ _ 1} _ _ _ _ _ _ _ _[l_
i3 BEND /P 90° R 4.13
FLAT PATTERN OF ITEM '1'
SCALE 1 1/2"=1'-0"
90
46 e e e —— e A e e L A } SN W SN SN SENUNSSNNSY SIS SN § SUSSS S SN S —
/ —r \
—— ——
42.84
95 65 65 95
12.5 THRU
% / o SHOP NOTES:
“ 45 1. ALL MATERIAL IS TO BE FREE FROM RUST,
N /gf)‘o THRU SCALE & WELD SLAG
23 @ , , 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
_ = 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
e \ — o " 4, ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
\ - o 5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
: 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 C [ MC [5/20/2022 [REVISED BEND NOTES
R - AND ZINC PLATED ' B | MC |7/13/2022 |REVISED & ADDED DIMENSIONS & SHOP NOTE
= 7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE A | MC | 7-5-22 |FOR FABRICATION
\ S \ APPLICABLE) WITH MK IDENTIFIERS. REV| BY | DATE DESCRIPTION
(Qéi‘)‘ THRU 8. ALL SLOT LENGTHS ARE END TO END U.N.O. REVISION HISTORY
GENFRAI NOTES:

8.60

17.20+ .10

HOLD

R2.25 TYP.

ENLARGED VIEW A’

SCALE 6"=1'-0"

ENLARGED VIEW 'B'

SCALE 3" = 1'-0"

PAINT NOTES:
PAINT AFTER WELDING

MIZAGSNIUM]
CensulEing

41700 Gardenbrook Rd. Phone:  (248) 773-8055
Suite 125 Fax: (248) 773-8051
Novi, MI 48375 Web: www.4Magnum.com

jr

5 mm [3/16"]

60
REF

APP

MAGNUM JOB #:

MAGNUM DRAWING #:

X=+.060
XX=+.030
XXX = +.005
FRACTIONS = £1/16"
ANGLES = £1°/30'
BREAK ALL SHARP EDGES
DEBURR ALL HOLES
DO NOT SCAI F DRAWING

MATERIALS:

- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.

- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
- ALL HOLES ARE 13/16" DIA. U.N.O.
- ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
(SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
- ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
- PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
- ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

MILLER INDUSTRIES

3070 W. THOMPSON RD.

FENTON, MI 48430

PH: 810.373.0322 FAX: 810.373.0326
www.millc.com

PROPRIETARY AND CONFIDENTIAL
INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY

OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR
AS WHOLE WITHOUT THE WRITTEN
PERMISSION OF MILLER INDUSTRIES
IS PROHIBITED.

TITLE:  P6700 CONVEYORS
CAMPUS BUILDING

CLIENT: VOLVO

DRAWN BY: SGS

CHECKED BY: | CW

DWG DATE:  |6/13/2022

DRAWING No. REV:
1875D103 B

JOB No:
22096

J:\Job #1875\New Job Drawings\Issued\22-09-20 D03 Rev\1875D103 - REV C.dwg




15_

339 mm [1™-1 3/8"]

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D104A
1 1 |PL3/16x1'-13/8 18'-4 3/16"

60, 872 p 872 11 872 L 872 11 872 L 872 160,
‘ ‘ ‘ ‘ ‘ @19mm x 25mm LG SLOT—\
| #; }i —-==r % % > < jfi S {éfi —=1. i{ —=£ ——————— i——\
\— @13mm x 28mm LG SLOT ole 20 .36 36 !
(%) . . 39 63 39, N
x| ’ T =3~ .
- — v
NI 9 = N
(24x)
g 5553 -
— ENLARGED VIEW 'A'
. 430 e 500 . 1208 //>; \\\ 1065 . 1208 . 500 _ SCALE 1/6
- / N\ / \ AN N
| \\{ /7_ o _T\ oo \\{ 7—0— H —<>—Y vl N \\{ \\" (_ — / \\{ I \ Q)\
| 1 | \ T RN \ ( | \
| —d - 0 0 \ 0 0 /] — 0 0 0 0 0 \ | / ' . =
\\§ // \\\ /// \¢9 THRU \ B / 0 |- o = _._1_35_‘ 2’
A NP 2 e T
663 - C '\V MA ’
2753 . 400 _ 5 R2 3
25.4° o
MK-D104A ~ SIDE FRAME Y v\
SCALE 1"=1'-0" &
)
ENLARGED VIEW 'B'
SCALE1/6
. 320 N
160
®12.5 THRU
318.0 THRU - 130 /- (2x)
(ZX)_\ 65 |
I —— e —
3 5593 mm [18-4 3/16"] N " /' -
: : R o o ) A
. 851 . 3837 905 _ ﬁ} ¢ 4* !
REF.
B 2264 N — D
— BEND DOWN 90° R4 igpx 55° CHAMFER (Qéi‘)‘ THRU E SHOP NOTES:
= = ' = = ' ) ' = = 1. ALL MATERIAL IS TO BE FREE FROM RUST,
N ° = v 1= T\Jljg_ o S B v oe [ /@ SCALE & WELD SLAG
| o o - e 4 1 _ o | 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
i3 1 ' . B - - - H o 1] 100 |, 137 . 137 g, 100 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
L 4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
BEND UP 907 R4 AA AA 5. ALL WELDS TO BE 3/16" / 5Smm MINIMUM CONTINUOUS
234 1065 e 1065 -l 1065 -l 1065 -l 1065 - F}Sé FILLET UNLESS OTHERWISE SPECIFIED.
' 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
o ENLARGED VIEW 'C' AND ZINC PLATED
FLAT PATTERN OF ITEM '1 SCALE1/6 7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
SCALE 3/4"=1"'-0" APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.
PAINT NOTES:
1. PAINT AFTER WELDING
B MC |7/13/2022 REVISED DIMENSIONS & ADDED HOLES AND SHOP
NOTE
A MC 7/5/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAI NOTES:
MATERIALS: MILLER INDUSTRIES o oo Rt
. - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
ENLARGED VIEW 'D - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B UN.0. FENTON, MI 48430 REPRODUCTION IN PART OR
SCALE1/6 - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. PH: 810.373.0322 FAX: 810.373.0326 F/’ASRVI:/ATS(')SLKE)xvgﬁ%JLTLET:lENvE\)/SSTTTRElr;s
Hét\éé:OTHER MATERIAL TO BE ASTM-A36 U.N.O. www millc.com IS PROHIBITED.
N FSS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. _
D@W@Z)%ﬂ%&\g{%%w X = £.060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
o (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardentrook R brone:  (248) 7728055 S %xﬁ‘_ﬁog’& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
N, i 48375 Wab: oot dbtagnum.com R AbTIOl:lg = 116" WE'AII_)LS\:NELDS O BE 7000 (PER ANS DI CLIENT: VOLVO
ANGLES = £1°/30' PAINT- : g DWG DATE:  |6-13-2022
MAGNUM JOB # 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
DEBURR ALL HOLES COPES: 1875D104 B
MAGNUM DRAWING #: 1875D104 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN /2" RADIUS UN.O 22096

J:\Job #1875\New Job Drawings\Details\1875D104.dwg



BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D105A
1 1 |PL3/16" X 8 3/8" 18'-2 1/16"

6 1, 28 20,28 ,,11

=
=
6

(2x)

@13mm x 28mm LG SLOT i _\ — )
(9x) I] _ Py — I] I] jv
LN — N
{ [/ | el | | | | | | | | | | | | | | | 1] - A
N )=
& = == = == E= :
1;! !< 878 >!< 872 :!:121>!< 872 >!< 872 :!:12]-:!: 872 >!< 872 :! !: 17 —————————————————
ENLARGED VIEW ‘A’
SCALE 3"=1'-0"
. 4121 o
B 3921 _
. 2723 _
. 1506 _
- 1332 - —l
13, ] / - \\ — 2N =
r d N / \ 40 \
/ / \ \ <

149

-
¢
C
@
¢
il

5 mm [3/16"]

MK-D105A ~ MID FRAME

SCALE 1"=1"'-0"

ENLARGED VIEW 'B'

SCALE 3"=1'-0"

1, B2 ,8 11 |7 .

g T of

[ ] [ ] ~ N A:

S o Tl
‘DL‘E

ENLARGED VIEW 'C'

SCALE 3"=1'-0" SHOP NOTES:
1. ALL MATERIAL IS TO BE FREE FROM RUST,
SCALE & WELD SLAG
2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
5538 mm [18'-2 1/16"] 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS

213 mm [8 3/8"]

R . 4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
— BEND UP 907 R Reo FILLET UNLESS OTHERWISE SPECIFIED.
e 1 = 1 ' = 1 = Lo = Lo it 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
. = — — T ——— — — — ———— — — — — - - - ——— - - - = AND ZINC PLATED
! D . (D, " D). . (D). . (D). ) + 7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
1 [ e e e L e e HL e et L e e e L e e ——— APPLICABLE) WITH MK IDENTIFIERS.
o k 8. ALL SLOT LENGTHS ARE END TO END U.N.O.
i BEND UP 90° R4 | 120
- 10 PAINT NOTES:

PAINT AFTER WELDING

FLAT PATTERN OF ITEM "1

SCALE 3/4"=1'-0"

B MC |7/12/2022 |REVISED SLOTS & ADDED SHOP NOTE
A | MC | 7/5/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAI NOTES:
VATERIALS: MILLER INDUSTRIES O S
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, MI 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.0. : : AS WHOLE WITHOUT THE WRITTEN
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O. 5\,'\_,'\,“? :nonﬁ:?g 6?322 FAX: 810.373.0326 PR S O R INDUSTRIES
HOLES: : :
oS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. _
D@W@Z)%ﬂ%&\g{%%w X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
Il (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Garntrank R rone. (248) 7738055 g %X‘_ﬁog’& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
Novi, M 46375 Wek:  wwAMegnum.com ERACTIONS = +1/16" WELDS: CLIENT:
ANGLES = 215130 PAl,;A\ILTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |6-13-2022
MAGNUM JOB # 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
DEBURR ALL HOLES COPES: 1875D105 B
MAGNUM DRAWING #: 1875D105 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Details\1875D105.dwg



BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D106A
1 1 |PL3/16 x1'-5/16" 4'-1/2"
1232
13
|— ——————————————————————— s — — — — — — — — — — — — — — — — — — — — — — — —l g—l—l _‘_
= o
E - — — — ——
3 —
RS
————————————————————————— ———— ¥ @ <
| A | N
N 3 X 45° CHAMFER
TYP.
MK-D106A ~ END FRAME
SCALE 3"=1'-0" \ _
21
67 4

ENLARGED VIEW 'B'

SCALE 6" = 1'-0"

SHOP NOTES:
1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.
2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.
3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS,
ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.
4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE
FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

1232 mm [4- 1/2'] 5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

599 g 7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.
I 9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE,
I_ WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO
I - PAINTING.
: \ Ny ¢ 10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
___ - - - - S - - T: - —r1 - - N _ _ _ _ ___ - APPLICABLE) WITH MK IDENTIFIERS.
: BEND UP 90° R5 TYP. S 11. ALL SLOT LENGTHS ARE END TO END U.N.O.
+ | als —
'_
§ PAINT NOTES:
B ' ) PAINT AFTER WELDING
| 6 E
v, - =
! |
: | lfBEND UP 90° R5
I .
| } N
L
A | MC 7/5/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
337 553 REVISION HISTORY
GENERAL NOTES:
3070, THOMPSON FD.
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 UN.0. : :
FLAT PATTERN OF ITEM '1' - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B UN.0. FENTON, MI 48430 REPRODUCTION IN PART OR
10" - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.O, : : AS WHOLE WITHOUT THE WRITTEN
SCALE 3=1-0 HC—)fIE.gOTHER MATERIAL TO BE ASTM-A36 UN.O. Svl\-llvv? :nonggo(?ﬁ% FAX:810.373.0326 RSSO protiBITED, e
NLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. )
D@W@Z)%ﬂg%{%gw X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: SGS
Il (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardenbrook R Phons; (2407758055 € XX‘_*;OS& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
Novi, Wi 48375 ok o aagam.cam ERACTIONS = +1/16" WELDS: CLIENT:
ANGLES = +15/30 PAlﬁLTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWGDATE:  |6-13-2022
MAGNUM JOB #1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 18750106 DO NOT SCALF DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Details\1875D106.dwg




@9 THRU 321
- T /S - u__.utll:l fm:l:ll:lll:l
X R6
‘_ 1232 7‘
MK-D107A ~ INNER CROSS MEMBER
SCALE 3"=1'-0"
1232 mm [4*- 1/2"]
7 1088 )
| - 1 ‘
|
'
[ | | &
I il
i ! R - — .
I BEND UP 90° R6 ~
] H
' =
A 7|E )
* :
' H
I — BEND UP 90° R6 8
' : e TS
|
| |
! %

131 !

FLAT PATTERN OF MARK '1"

SCALE 3"=1'-0"

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D107A
1 1 |PL 1/4 x 1'-4 13/16" 4-1/2"
7
68
23
20
= =
R 8
& )
3 2X45° CHAMFER—_ | | o
TYP.
y 1O i
WL 17 -
}
ENLARGED VIEW ‘A’
SCALE 6" = 1'-0"
SHOP NOTES:
1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.
2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.
3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS,
ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.
4, ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE
FLANGE TEES TO BE ASTM A-992/A-572 GR. 50
5. ALL FASTENERS TO BE ZINC PLATED U.N.O.
6. ALL BOLTS TO BE ASTM A-325 U.N.O.
7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK
NUTS U.N.O.
8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.
9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE,
WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO
PAINTING.
10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
11. ALL SLOT LENGTHS ARE END TO END U.N.O. REV| BY DATE DESCRIPTION APP
PAINT NOTES REVISION HISTORY
PAINT AFTER WELDING wrERAs e MILLER INDUSTRIES e R
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.O, : : AS WHOLE WITHOUT THE WRITTEN
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O. 5\/@\/\?%&7&%”22 FAX: 810.373.0326 PERMISSION OF MILLER INDUSTRIES
HOLES: : :
INLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O, )
D@W@Z)%ﬂg%{%gw X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: SGS
Il (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardenbrook R A — € XX‘_*;OS& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
Novi, Wi 48375 ok o aagam.cam ERACTIONS = +1/16" WELDS: CLIENT:
ANGLES = 215130 PAlﬁLTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |6-14-2022
MAGNUM JOB #1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
DEBURR ALL HOLES COPES: 1875D107 A
MAGNUM DRAWING #: 1875D107 DO NOT SCALE DRAWING _ ALL RENTRANT CUTS TO BE A MIN 1/2' RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Details\1875D107.dwg



176

440

440

176

125

@25 THRU /

(2x)

99

_____Li_l_'_.l_

MK-D108A ~ INNER CROSS MEMBER

SCALE 3"=1'-0"

1232 mm [4- 1/2"]

1063

98

71

[}

REF.

250

B
6 mm [1/4"]

R6
TYP.

105

131

225

241

297

426 mm [1'-4 13/16"]

. 825 . 60 179 _
REF.
. 586 . 60 179 _
REF.
B 348 L 60 179 _
- N N REF. .
P P B 179 _
REF.
e}
} Y
|
3
|
|
S L I j
| (4x) BEND DOWN 90° R6 BlE [
! 1 N
11 ,v
: (4x) : —
|
@ 1= O
8
[ BEND DOWN 90° R6 (%)
Iﬁ —— 1 —— 1
SR N T S VN ] B
i /B\
3
|
I . . . L o I
R -_d
. 131 _
. 475 _
. 509 _
. 659 _
. 746 _
1093

FLAT PATTERN OF ITEM '1'

SCALE 3"=1'-0"

j\

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.
2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.
3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS,
ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE
FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.
9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE,
WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT NOTES:

PAINT AFTER WELDING

MIZAGSNIUM]
CensulEing

Phone:  (248) 773-8055
(248) 773-8051
www.4Magnum.com

41700 Gardenbrook Rd.
Suite 125 Fax:
Novi, MI 48375 Web:

MAGNUM JOB #: 1875

MAGNUM DRAWING #: 1875D108

X=+.060
XX=+.030
XXX = +.005
FRACTIONS = £1/16"
ANGLES = £1°/30'
BREAK ALL SHARP EDGES
DEBURR ALL HOLES
DO NOT SCAI F DRAWING

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D108A
1 1 |PL1/4x1'-413/16 4'-1/2"
= 67 =
B
I I I I I — ; !
oy T T ! T
Y N
i
Y
i
- (I |
2 N & —
Y
i
Y Y
i
o Y
3 i
g 2
Y Y
i
Y
i
Y Y
i
Y
i
Y Y
i e
Y
Y — N
Y d w '_l /
R
ENLARGED VIEW 'A’
SCALE 6"=1'-0"
B MC |7/06/2022 |SLOTS FOR GUIDE ROLLER CHANGED
A MC |7/01/2022 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:

VATERIALS: MILLER INDUSTRIES PROPRIETARY AND CONFIDENTIAL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. . . AS WHOLE WITHOUT THE WRITTEN

H(—)fIE_;OTHER MATERIAL TO BE ASTM-A36 UN.O. Svljvv?mlggoﬁzz FAX: 810.373.0326 PERMISSION OF MILLER INDUSTRIES
- ALL HOLES ARE 13/16" DIA. UN.O.

- ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
(SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAM P U S B U | LD | N G CHECKED BY: CwW

WELDS: S CLIENT:

PAQLTL- WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |6-14-2022
- PAINT PER CUSTOMER SPECIFICATIONS U.N.O. DRAWING No. REV: JOB No:

COPES:

- ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 1875D108 B 22096

J:\Job #1875\New Job Drawings\Details\1875D108.dwg



280

TYP.

|10 mm [3/8"]

196

H 1

— b

MK-D109A ~ GUIDE ROLLER TOWER-LH

154

SCALE 3"=1'-0"
. 280 _
- )
= R3 =
TYP.

=

10 mm [3/8"]
[ (1] L[]

MK-D109B ~ GUIDE ROLLER TOWER-RH

SCALE 3"=1'-0"

200

|

200

_____\'!__FI Y

[}

Y

——F

196 mm [7 11/16"]

154 mm [6 1/16"]

89 mm [3 1/2"]

25 X 45° CHAMFER

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D109A
1 1 |PL3/8x711/16" 2'-111/16"
MK-D109B
B 652 mm [2'-1 11/16"] N 2 1 |PL3/8x61/16" 2'-111/16"
MK-D109C
3 1 |BAR 15/16 x31/2 51/2"
. 446 26 180 _
REF.
B 271 B 110 65 |
- = REF.
~ 180 26, 65 |
= u REF.
S 139 X 25° CHAMFER
] / ! \ J ! /
BEND UP 90° R3 ——" BEND UP 907 R3—’i
180 | |< 26 26 —A_
‘ N 5 10 ol
=
v~ Y
1
=1 I - I I/ R O - ‘
REF.
170 51 60
B T RER
B 281 90 | e0 |
B S " REF.
Bl 431 L 51 o - >0
REF.
B 532 70 | | 50
REF.
FLAT PATTERN OF ITEM '1'
SCALE 3"=1'-0"
652 mm [2-1 11/16"]
B 446 26 | 180 -
B B REF. .
. 180 26 240 _ /@
N REF.
i
) /
| | |_— 104X 30° CHAMFER
| | TYP.
BEND UP 90° R3 ——{ }4— BEND UP 90° R3
180 I 2 26, | 180 —r
Y
N V SHOP NOTES:
[ O“ ___ 1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.
- 0 e 70 i - RSE(I): ‘3% 2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.
' 3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS,
- = e ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.
i - 1w | e 4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE
B S “TTREF. FLANGE TEES TO BE ASTM A-992/A-572 GR. 50
- 431 ) S ol 90 5. ALL FASTENERS TO BE ZINC PLATED U.N.O.
- REF-7O - 6. ALL BOLTS TO BE ASTM A-325 U.N.O.
- i - ™ REF. 7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK
NUTS U.N.O.
FLAT PATTERN OF ITEM '2' 8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.
SCALE 310" 9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE,
WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO
PAINTING.
10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
11. ALL SLOT LENGTHS ARE END TO END U.N.O.
140 mm [5 1/2"] N ., 23mm([15/16"]
PAINT NOTES:
PAINT AFTER WELDING
B MC |7/06/2022 |DIMENSIONAL MODIFICATION ITEM 1
A MC |7/01/2022 |FOR FABRICATION
MK-D109C ~ TOWER PLATE REV| BY DATE DESCRIPTION APP
SCALE 6"=1'-0" REVISION HISTORY
GENERAL NOTES:
MATERIALS: MILLER INDUSTRIES P ap CouFoETL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.O. : . AS WHOLE WITHOUT THE WRITTEN
- ALL OTHER MATERIAL TO BE ASTM-A36 UN.O. vavvfmlﬁzgo(ﬁzz FAX: 810.373.0326 PERMISSION OF MILLER INDUSTRIES
HOLES: : :
: - ALL HOLES ARE 13/16" DIA. UN.O. _
D@W@Z)%ﬂ%&\g{%%w HHLESS QI HERTISENOTED - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
Wl (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardentrook R prone: 0773055 = %X);‘jog& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKED BY:| CW
. R FRACTIONS = £1/16" N ALLWELDS T0 8E *ET0N0 (PER AWS D1.1) CLENT: voLvo
ANGLES = +1°/30' PAINT: ' ' DWG DATE:  |6-14-2022
MAGNUM JOB # 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D109 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

J:\Job #1875\New Job Drawings\Details\1875D109.dwg



BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D110A
1 1 |MK-D108A ~ INNER CROSS MEMBER
2 1 |MK-D109A ~ GUIDE ROLLER TOWER-LH
3

- 474.75 — 282.50 474.75 - MK-D109C ~ TOWER PLATE
z2
N 0 0 _ MK-D110B
3 & = 8 ¥ 1 1 |MK-D108A ~ INNER CROSS MEMBER
: MK-D109C ~ TOWER PLATE
4 1 |MK-D109B ~ GUIDE ROLLER TOWER-RH

125

. — — — — — e p— — p— c— — — p—— ——

_25.75
~ REF.
1 I
MK-D110A ~ INNER CROSS MEMBER WELDMENT-LH REMOVE ALL
B WELD SPLATTER
SCALE 1 1/2"=1'-0
‘ y/ %AA SHOP NOTES:
A _ -] 1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.
S 2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.
| 3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS,
ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.
4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE
FLANGE TEES TO BE ASTM A-992/A-572 GR. 50
5. ALL FASTENERS TO BE ZINC PLATED U.N.O.
6. ALL BOLTS TO BE ASTM A-325 U.N.O.
7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK
NUTS U.N.O.
8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.
9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE,
WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO
PAINTING.
10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
11. ALL SLOT LENGTHS ARE END TO END U.N.O.
3.2
. 29.75
R PAINT NOTES:
A /@ PAINT AFTER WELDING
er L
- |
TYP. TYP.
B MC |7/06/2022 |GUIDE ROLLER MOUNT CHANGED
A | MC |7/01/2022 |FOR FABRICATION
MK-D110B ~ INNER CROSS MEMBER WELDMENT-RH REV| BY DATE DESCRIPTION APP
SCALE 1 1/2"=1'-0" REVISION HISTORY
GENERAL NOTES: MILLER |NDUSTR|ES PROPRIETARY AND CONFIDENTIAL
MATERIALS: INFORMATION CONTAINED IN THIS
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B UN.O. FENTON, MI 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.0. PH: 810.373.0322 FAX: 810.373.0326 | A3 HOLE wiHoUT THE wRrTTeN
Hét\éé :OTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR S O R INDUSTRIES
NI ESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. _
D@W@Z)%ﬂ%&\g{%%w X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
Il (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Garntrank R rone. (248) 7738055 g %xﬁ‘_ﬁog’& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| Cw
o s W ok g o FRACTIONS = £1/16" AL WELDS TO BE"ETONK (PER AWS D1.1) CLENT: voLvo :
ANGLES = +1°/30' PAINT: ' ' DWG DATE:  |6-14-2022
MAGNUM JOB #: 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D110 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Details\1875D110.dwg



&
£ 1 X 45° CHAMFER
o /
| | | I | NI | I | I |
| | | | | | {1 ] il | | | |
515 mm [1'-8 1/4"]
222 70 222
REF.
97 95 L 130 95 97
B REF.
RS @M12x1.75 TAP THRU 90.7
TYP @18 THRU 20 90.0
' (2X)‘\
N =
1 e . '
— & [ [ &5
S
ey ' ' '
o,
e 1} 1} 1}
€
5 N - -
1550
REF,
@14 THRU
(6x)
20 100 274 100
121
2174 80 2174
257

MK-D111A ~ MOTOR MOUNTING PLATE

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST,

SCALE & WELD SLAG

2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
FILLET UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.

8. ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT AFTER WELDING

SCALE 6"=1'-0"

13 X 25.4° CHAMFER

M6x1 THRU TOP FLANGE *\

/2\

R8
(2x)

+

15

BILL OF MATERIAL

18043 THRU BOTH INLINE —l

MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D111A
1 1 |PL1/2x55/16" 1'-8 1/4"
= MK-D111B
E 2 1 |PL5/16 x 2 5/16" 21/2"
MK-D111D
A 3 | 1 [BAR2x3 33/8"
59.5 mm [2 5/16"]
2045 18.60
7 A7
/B
| _R75 o =
IS
- R3 £
/ (2) 3
7
R15
MK-D111B ~ RETAINER
SCALE 1-0" = 1'-0"
£ I R
=l / i \ 8 {i}
86 mm [3 3/8"]
A 12 43 31
23 REF.
= ety I I R
e b —
7 X 45° CHAMFER
(TYP)
MK-D111D ~ CLEVIS
SCALE 1'-0" = 1'-0"
REVISED ITEM '3', WAS BAR 2 x 2 1/2" NOW BAR 2 x
C MC |7/27/2022 |3; REVISED PAINT NOTE, REMOVED MK-C, ADDED
DIMS MK-B, REMOVED MACH/LASER NOTE MK A
B MC | 7/12/2022 REVISED MOTOR MOUNTING PLATE, SHOP NOTES &
ADDED TOLERANCE DIM. TO HOLE
A MC 7/5/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
MATERIALS: MILLER INDUSTRIES A AT
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, MI 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. . . AS WHOLE WITHOUT THE WRITTEN
- ALL OTHER MATERIAL TO BE ASTM-A36 UN.O. Svl\-flvv?:n%ﬁzgo(?% FAX: 810.373.0326 PERMISSION OF MILLER INDUSTRIES
HOLES: : :
IINLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. _
g&%ﬂgﬁ%ﬁ%m X = £.060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
Wl (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardonbrook R brone: (o48) 775.3085 Sl X’;xx'_ﬁoggf) INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| Cw
N, Vi 48375 oo ) eaom com R Aleor:lS_ - 116" WELDS: CLIENT:
ANGLES o 215130 PAI;A\]LTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |6-14-2022
MAGNUM JOB #: 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.O. DRAWING No. REV: JOB No:
DEBURR ALL HOLES COPES: 1875D111 C
MAGNUM DRAWING #: 1875D111 - REV C DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

J:\Job #1875\New Job Drawings\Issued\22-07-27 Misc DLOC PPRB Revs\DWG\1875D111 - REV C .dwg



N

"((“: 1 11 11 11 11 | |\\"
|
4\ 2575~ _@_
4],/ 2575 | | |
|
|
3 |
|
|
|
|
B
L 10
I i AT
| ! ! L |
MK-D112A ~ LEG ASSEMBLY
SCALE 3"=1'-0"
267 mm [10 1/2]
19 mm [3/4"]
133
/ @45 THRU
/ N
2 \J _
€
N\ / LY
5X45° CHAMFER—/
TYP.

DETAIL OF ITEM '2'

SCALE 6"=1"'-0"

348 mm [1-1 11/16"]

Novi, MI 48375 Web: www.4Magnum.com

BILL OF MATERIAL

MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D112A
1 1 |PL1/4x1'-111/16" 1'-7"
2 1 |BAR3/4x6 10 1/2"

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.
2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.
3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS,

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50
5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.
7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK

NUTS U.N.O.
8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE,
WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT NOTES.:

PAINT AFTER WELDING

A | MC 7/5/22

FOR FABRICATON

REV| BY DATE

DESCRIPTION

APP

REVISION HISTORY

MAGNUM JOB #: 1875

MAGNUM DRAWING #: 1875D112

((I: 1 11 11 11 11 1 ::l\\
2
1 | v
250
6 mm [1/4"]
0~ 1
| *
o
- |
171 [
DETAIL OF ITEM "1’
SCALE 3"=1'-0"
483 mm [1-7"]
131 221 131
REF.
3 X 45° CHAMFER | gt 20 i 60 1 50 i 31
VP, | | | REF.
12 X 45° CHAMFER
/ (2x)

r T

| |

| |

- BEND 90° RS g . BEND 90° RS
&

| |

| |
: . i

110 _| L 24 24 ‘| |_ 110
Lot I ST
122 122
FLAT PATTERN OF ITEM '1'
SCALE 3"=1'-0"
Ml2AGNIUM] UNLESS OTHERWISE NOTED:
g X = £.060
@@m@‘wﬂ@m@ e 203
0 Sardenkrook R A XXX = £.005

FRACTIONS = £1/16"
ANGLES = £1°/30'
BREAK ALL SHARP EDGES
DEBURR ALL HOLES
DO NOT SCAI F DRAWING

GENFRAI NOTES:
MATERIALS:

- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.

- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
- ALL HOLES ARE 13/16" DIA. U.N.O.
- ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
(SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
- ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
- PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
- ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

MILLER INDUSTRIES
3070 W. THOMPSON RD.
FENTON, MI 48430

PH: 810.373.0322 FAX: 810.373.0326
www.millc.com

PROPRIETARY AND CONFIDENTIAL
INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY

OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR
AS WHOLE WITHOUT THE WRITTEN
PERMISSION OF MILLER INDUSTRIES
IS PROHIBITED.

TITLE:  P6700 CONVEYORS
CAMPUS BUILDING

CLIENT: VOLVO

DRAWN BY: SGS

CHECKED BY: | CW

DWG DATE:  |6-14-2022

DRAWING No.

1875D112

REV:

JOB No:

22096

J:\Job #1875\New Job Drawings\Details\1875D112.dwg



28

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D113A
1 1 |[PL3/16x2 7/16" 57/8"
MK-D113B
2 1 |PL1/4x21/8" 2 9/16"
3 65 mm [2 9/16'] N
B 110 _
- - D S A - R
REF.
< 17 i 31 e 17 o omm[1/47]
REF.
I I
| | | —955THRY
B _I I_ _ ) ] ) ) a ) / A
= |
{ ) — ; Y
I N CH I . o O —
— R2 R10
| | z ¥ ] ) TYP. /(ZX)
' ' ; (8 s ()
£ R1
| | 'S /TYP. R1
‘ TYP. |
<\_
Y A\ / \\ S
\3 X 45° CHAMFER
o 7 18 | 15 [, 18 < 7 TYP.
REF.
MK-D113B ~ ENCODER BRACKET
SCALE 1'-0" = 1'-0"
/® ] 62 :
/| L il L 1K eer N
A ] /
5 mm [3/16"]
MK-D113A ~ BRACKET
SCALE 1'-0" = 1'-0"
149 mm [5 7/8"] SHOP NOTES:
- - 1. ALL MATERIAL IS TO BE FREE FROM RUST,
50.00 A SCALE & WELD SLAG
- ' = 89X 17 SLOT 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
25 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
B 24 - B 24 | 4, ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIH
B . | a . . 5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
(120X;< 457 CHAMFER FILLET UNLESS OTHERWISE SPECIFIED.
| i | 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
/ | @9 | \< AND ZINC PLATED
/——\ 7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
{ ] — ] | APPLICABLE) WITH MK IDENTIFIERS.
= 8. ALL SLOT LENGTHS ARE END TO END U.N.O.
= | "~ BEND DN 90° RS BEND DN 90° RS — | PAINT NOTES:
£ | PAINT AFTER WELDING
o 18 12 . 12 18
| R1 TYP.
N U
- )
RN J
\ 3 X 45° CHAMFER
TYP.
ST I B S LT I S 'S SU S N I
C AC (08/22/22 |ITEM 2 -5 DIA HOLE NOW 5.5
o B MC |7/13/2022 |ADDED SLOT AND SHOP NOTE
DETAIL OF ITEM '1 A | MC | 7/5/22 |FOR FABRICATON
SCALE 1707 =140 REV| BY | DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
VATERIALS: MILLER INDUSTRIES BT AlD CONFIOENTIAL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. PH: 810.373.0322 FAX: 810.373.0326 |/swroLewour ree waimren
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O. -
HOLES: WWW.m|||C.Com IS PROHIBITED.
; - ALL HOLES ARE 13/16" DIA. UN.O. _
D@W@Z)%ﬂ%&\g{%%w HHLESS QI HERTISENOTED - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
ST (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardentrook R prone: 0773055 = %;(X‘jog’& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKED BY:| CW
. R FRACTIONS = £1/16" N ALLWELDS T0 8E *ET0N0 (PER AWS D1.1) CLENT: voLvo :
ANGLES = +1°/30' PAINT: ' ' DWG DATE:  |6-14-2022
MAGNUM JOB #: 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D113 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

J:\Job #1875\New Job Drawings\Details\1875D113.dwg


acole
Snapshot

acole
Text Box
C

acole
Text Box
AC

acole
Text Box
08/22/22

acole
Text Box
ITEM 2 - 5 DIA HOLE NOW 5.5

acole
Line

acole
Text Box
5.5 THRU

acole
Text Box
C

acole
Snapshot

acole
Rectangle

acole
Text Box
C


BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH | ABM # REMARKS
MK-D114A
1 1 |MK-D115A ~ STATIC WHEEL BKT
2 1 |MK-D115B ~ STATIC WHEEL MTG PL
3 1 |MK-D115C ~ STATIC WHEEL WASHER
4 1 |Static-Control Rubber Wheel-2.5 In Dia. 8-1
X .9375 W - McMASTERCARR #2328T75
5 1 |M5x0.8 x 12mm LG. BUTTON HEX
eee SOCKET HEAD CAP SCREW
6 1 |MK-D115D ~ STATIC WHEEL PIN- 15
3 179 N mm Dia. X 40 mm LG A311
- . STRESSPROOF
7 1 |1004-1045 Carbon Steel Cotter Pins-1-16 8-2
In Dia._.51InLg ZP - MCMASTERCARR
[ / | #98338A100
,/ 8 2 |M5x0.8 x 20mm LG. HEX CAP SCREW
O 9 3 |M5 NARROW FLAT WASHER
1 10 2 |M5 x 0.8 HEX NUT
) —) 11 1 [M5 x 0.8 HEX JAM NUT
@'/‘Q | @ Qow 12 1 |[MK-D115E ~ STATIC WASHER
- 147 - 37
W
(10) s (&)
N ¥ @99 1
T3 = -
— . ] = ()
Y I'U | AN
= 0 0D ﬁ Er
MK-D114A ~ STATIC WHEEL ASSEMBLY
SCALE 1'-0" = 1'-0"
SHOP NOTES: B | MC |7/12/2022 [ADDED ITEM '12', CHANGED ABM NUMBERS
1. ALL MATERIAL IS TO BE FREE FROM RUST, A MC 7/5/22 |FOR FABRICATON
SCALE & WELD SLAG REV| BY | DATE DESCRIPTION APP

2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS

REVISION HISTORY

4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
FILLET UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5

AND ZINC PLATED HOLES:
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE — 7 ALL HOLES ARE 1316 DIA. UNO. -
APPLICABLE) WITH MK IDENTIFIERS ( %ﬂé%%&\g%gﬁﬂw i ' - ALL BOLTED CONNECTIONS TO BE 34" DIA A325-N TimLe: - P6700 CONVEYORS DRAWNBY: | SGS
: k) (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
8. ALL SLOT LENGTHS ARE END TO END U.N.O. 1700 oo s T S Xx‘jog’& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY: | cw
PAINT NOTES: e e e, S WELDS: o CLIENT:
1. DO NOT PAINT _ ANGLES = £1°/30 o ALL WELDS TO BE "E70XC (PER AWS D1.1) VOLVO DWG DATE:  |6-14-2022
MAGNUM JOB # 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No-
DEBURR ALL HOLES COPES: 1875D114 B
MAGNUM DRAWING # 1875D114 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

GENFRAI NOTES:
MATERIALS:

- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.

- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.

MILLER INDUSTRIES
3070 W. THOMPSON RD.
FENTON, MI 48430

PH: 810.373.0322 FAX: 810.373.0326

www.millc.com

PROPRIETARY AND CONFIDENTIAL
INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY

OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR
AS WHOLE WITHOUT THE WRITTEN
PERMISSION OF MILLER INDUSTRIES
IS PROHIBITED.

J:\Job #1875\New Job Drawings\Details\1875D114.dwg



4 X 45° CHAMFER—/ 35.6 /D\

TYP.

16

17

1
Q_

31

11 GA (0.1196)

/ IN-LINE

MK-D115A ~ STATIC WHEEL BKT

SCALE 2:1

37 mm[11/2"]

2 35.0

Ly
S— "
.

MK-D115D ~ STATIC WHEEL PIN

6.35

¢6.45

A

SCALE 2:1

(NO PAINT)

27

15

NOTE: HOLES MUST
BE IN-LINE AFTER
BENDING

15

50

42

@11 mm [@7/16"]

28 mm [11/8"]

-

4 20

16 GA (0.0598)

150 mm [5 7/8"]

13 7

13

S

15

S
B

20

\ @5.5 THRU -

(3%) ij

MK-D115B ~ STATIC WHEEL MTG PL

SCALE 1'-0" = 1'-0"

(NO PAINT)

114

14

10

10

14

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D115A
1 1 |SHT 11 GAx17/16 411/16"
- 30 N
MK-D115B
: : : ' 2 1 |[SHT 16 GA x 1 1/8 ~ 1095 SPRING 57/8"
STEEL, TEMPERED
e = MK-D115C
L 3 1 [SHT 11 GAx 11/16 2 3/16"
] &\~ MK-D115D
J l 4 1 |@7/16" A311 STRESSPROOF 11/2"
MK-D115E
5 1 |SPRING STEEL PL 1mm X 28 mm 30 mm
) ] R1 I
50
¢5i5 119 mm [4 11/16"]
60
MK-D115E ~ STATIC WASHER
SCALE 2:1 “ o
35 L 49 L 35
REF.
/—¢5.2 THRU.
||
-
E ™ _ _ |
=, — R6 —
= TYP.
~ yl DOWN 90° R3 —= = DOVN 50° R3 J i
@6.5 THRU
R8 (2%)
TYP.
8 103 8
REF.
13 37 18 51
35 18 16 35
REF.
FLAT PATTERN OF ITEM '1'
SCALE 2:1
SHOP NOTES:
1. ALL MATERIAL IS TO BE FREE FROM RUST,
SCALE & WELD SLAG
2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
4, ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
FILLET UNLESS OTHERWISE SPECIFIED.
6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
5 mm 2 /167 APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.
7 15 11 GA (0.1196) PAINT NOTES:
_ | 1. DO NOT PAINT MK-D115D
g o 2. PAINT BLACK OXIDE MK-D115A, MK-D115B, &
= Y = MK-D115C
| D 6% -
e
\_¢5.5 THRU \@
(2x) ii
E MC 9/6/22 |UPDATED LENGTH OF ITEM '4'
D MC |8/25/2022 |REVISED DIMS
MK-D115C ~ STATIC WHEEL WASHER C | AC [8/22/2022|TTEMS '2,3',5' - 5/5.2 DIA HOLES NOW 5.5
SCALE 1-0" = 1*0 B | MC |7/13/2022 |ADDED STATIC WASHER & REVISED SHOP NOTE
A MC 7/5/22 |FOR FABRICATON
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
RS, e MILLER INDUSTRIES BT AlD CONFIOENTIAL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. PH: 810.373.0322 FAX: 810.373.0326 AS WHOLE WITHOUT THE WRITTEN
HC—)fIE.gOTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR O e USTRIES
: - ALL HOLES ARE 13/16" DIA. UN.O. _
D@W@Z)%ﬂg%{%gw HHLESS QI HERTISENOTED - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: SGS
ST (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardentrook R hane: (248) 7735055 g %;(X-_iog& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| cw
Now: tat 18375 b e com FRACTIOl:lg - 116" WELDS: CLIENT:
ANGLES = 215130 PAlﬁLTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |6-14-2022
MAGNUM JOB #1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
DEBURR ALL HOLES COPES: 1875D115 E
MAGNUM DRAWING #: 1875D115 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

J:\Job #1875\New Job Drawings\Details\1875D115.dwg



12 mm [1/2"]

P@17/8"

35.5mm REAM

CHAMFER 3.5mm x 45° /

CUT SQUARE AND EXACT
MK-D116A ~ DRIVE ROLLER SPACER
SCALE 2:1
22 mm [7/8"]
AN
CHAMFER 3.5mm x 45° —— | yr—————-
I
I
I
I
|
z7 _
((\ngg\ J)/d)o i >
CUT SQUARE AND EXACT I
S —
/
“

MK-D116B ~ DRIVE ROLLER SPACER2

SCALE 2:1

MIZAGSNIUM]
CensulEing

41700 Gardenbrook Rd. Phone:  (248) 773-8055
Suite 125 Fax: (248) 773-8051
Novi, MI 48375 Web: www.4Magnum.com

MAGNUM JOB #: 1875

MAGNUM DRAWING #: 1875D116 - REV C

X=+.060
XX=+.030
XXX = +.005
FRACTIONS = £1/16"
ANGLES = £1°/30'
BREAK ALL SHARP EDGES
DEBURR ALL HOLES
DO NOT SCAI F DRAWING

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D116A
2 1 |TS17/80D x 1/4 DOM 1/2"
MK-D116B
3 1 [TS17/80Dx 1/4 DOM 7/8"
SHOP NOTES:
1. ALL MATERIAL IS TO BE FREE FROM RUST,
SCALE & WELD SLAG
2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
4, ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
FILLET UNLESS OTHERWISE SPECIFIED.
6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.
PAINT NOTES:
PAINT ALL FABRICATED STEEL
ONE SHOP COAT OF LIGHT GREY RAL 7035
PAINT OUTSIDE SURFACES ONLY
CHANGED MATERIAL FROM PIPE TO DOM TUBING
8/8/2022 ’
¢ MC /8 BOTH MK'S
B MC |7/27/2022 |ADDED SPACER, REV DIMS
A MC |7/21/2022 |REVISED SPACER
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
VATERIALS: MILLER INDUSTRIES PROPRIETARY AND CONFIDENTIAL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.0. PH: 810.373.0322 FAX: 810.373.0326 |8 HoLe wirHour The wrirTen
HC—)fIE.gOTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR S O R INDUSTRIES
- ALL HOLES ARE 13/16" DIA. UN.O.
- ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
(SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAM PUS BU | LD | N G CHECKED BY: CcwW
WELDS: .
- ALL WELDS TO BE "E70XX". (PER AWS D1.1) CLIENT: VOLVO DWG DATE:  |6-14-2022
PAINT:
- PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
COPES:
- ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 1875D116 C 22096

J:\Job #1875\New Job Drawings\Issued\22-08-09 Roll Bed Revisions\DWG\1875D116 - REV C.dwg



24

75

24

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D118A
1 1 [PL3/16x57/8 2'-10 1/16"
865
__________________________________ 3 _‘
P 14
= K3 NC8 RS NC8 o 3 X 45° CHAMFER
= 8 9
4 /
L %
Y
I
R1
TYP.
— e — — — — —— — — — — i —— — — — — ——— —— — — — —— — — — — — — — — — — — — j—l——l—l _" _}{
::?_ f\l“_ R5 -
5 mm [3/16"] ~N
Y
I
MK-D118A ~ BAR CODE READER BRKT
SCALE 3"=1'-0" <
S|R1
TYP.
Y
I
. =
Tl ENLARGED VIEW ‘A’
SCALE 1-0" = 1'-0"
865 mm [2-10 1/16"]
800 65
-— --— - @9X 171G SLOT ﬁ
/’DOWN 90° R5 ¢13 THRU ¢10 THRU /_ (54) / (ZX)
X
| ! / ® /| SHOP NOTES:
! | \ 1. ALL MATERIAL IS TO BE FREE FROM RUST,
RS 0 SCALE & WELD SLAG
| - ! - - - - - - - - - - - - - - - - - - - - - - - _/(4X) A 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
| | 7 ) 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
+ é 4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
e 5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
: @9 ~ FILLET UNLESS OTHERWISE SPECIFIED.
A &b &b D 38 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
) AND ZINC PLATED
* | EB_ - 7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
| APPLICABLE) WITH MK IDENTIFIERS.
: - 8. ALL SLOT LENGTHS ARE END TO END U.N.O.
| R e e L L - 3|t PAINT NOTES:
I ! PAINT AFTER WELDING
| L N
[ ! DOWN 90° RS 8 X 45° CHAMFER
59 120 104 104 120 358
REF.
849
B | MC |7/13/2022 |ADDED SLOT AND REVISED SHOP NOTE
A | MC 7/5/22 |FOR FABRICATON
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
FLAT PATTERN OF ITEM '1' ATERIALS; MILLER INDUSTRIES AN CONTANED I s
SCALE 6"=1'-0" - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 UN.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.0. PH: 810.373.0322 FAX: 810.373.0326 | S WHOLE wiTHoUT THE wRiTTEN
HC—)fIE.gOTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR O e USTRIES
NI FSS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O, )
D@W@Z)%ﬂg%{%gw X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: SGS
o (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
R Phons; (2407758055 € XX‘_*;OS& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
Novi, Wi 48375 ok o aagam.cam ERACTIONS = +1/16" WELDS: CLIENT:
ANGLES = 215130 PAlﬁLTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |6-14-2022
MAGNUM JOB #1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D118 - REV B DO NOT SCALF DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Issued\22-07-29 Updated DXFs\1875D118 - REV B.dwg



140 mm [5 1/2"]

38 mm [1 1/2"]

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D119A
1 1 [PL5/16x51/2 57/8"
MK-D119B
2 1 [(PL1/2x11/2 51/2"
150 mm [5 7/8"]
45 . 61 . 45 _
REF.
63 25 63 _ 8 mm [5/16"]
REF. -
K , | S I I I
M6x1 THRU = =2 = =
S (2x)\ J - (\ )- i
g 5 o A
1 o —
° o o Lt | A
i @
Y r
& & |
\ M3x0.5 THRU -
ol ) - (6x) \ \ [ |
e M10x1.5 THRU ) R10 \ B
(2%) TYP. ' —
35 -l 40 ol 40 ol 35 |
REF.
MK-D119A ~ ENCODER READER MTG PL
SCALE 1-0" = 1'-0"
I I
I 1 1 I ‘_’@
| 1] | 1 |
| L 1 L |
| |
140 mm [5 1/2"] | AA
40 L 61 L 39 | 13 mm [1/2"]
N N . B ' SHOP NOTES:
1. ALL MATERIAL IS TO BE FREE FROM RUST,
~N ! ] SCALE & WELD SLAG
C_\ 69 e 1 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
_« Y ] 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
/<\ N\ [ 4, ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
HQ Ts(i. G7mm x 12mm LG SLOT e 5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
(2x) o~ FILLET UNLESS OTHERWISE SPECIFIED.
*\@ 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
M ___/ | AND ZINC PLATED
éi) 7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
| 116 N 12 APPLICABLE) WITH MK IDENTIFIERS.
REF. 8. ALL SLOT LENGTHS ARE END TO END U.N.O.
PAINT NOTES:
MK-D119B ~ ENCODER READER HORSESHOE PL PAINT ALL FABRICATED STEEL T e
SCALE 1-0" = 10" ONE SHOP COAT OF LIGHT GREY RAL 7035 /5]
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
VATERIALS: MILLER INDUSTRIES BT AlD CONFIOENTIAL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. PH: 810.373.0322 FAX: 810.373.0326 AS WHOLE WITHOUT THE WRITTEN
Hbt\éé :OTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR O e USTRIES
: - ALL HOLES ARE 13/16" DIA. UN.O. _
D@W@Z)%ﬂ%&\g{%%w HHLESS QI HERTISENOTED - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: SGS
o (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardenbrook Re. brone:  (248) 736055 g ;‘fx‘_ﬁog’& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| Cw
Now: N 48375 b e com R ACTIOl:lg - 116" WElA_II_JLSW €108 70 BE E7000 (PER ANS D11 CLIENT: VOLVO
ANGLES = £1°/30' PAINT- : g DWG DATE:  |6-14-2022
MAGNUM JOB # 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D119 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

J:\Job #1875\New Job Drawings\Issued\22-07-12 RevsC D-LOC PPRB6\DWG\1875D119.dwg



BILL OF MATERIAL
DESCRIPTION LENGTH ABM #

MARK | QTY REMARKS

MK-D120A
1 1 |SHT 11 GAx 16 1/8 6'-1 3/8"
z2

MK-D120B
2 1 |SHT 11 GAx 16 1/8 6'-1 3/8"

1864 mm [6-1 3/8"]

712 70

587 1

155 910 155 11 GA (0.1196)
11 G6A(0.1156)

48

%
1

17
109

G - -
RS 2 [:l\\
TYP. R4

3
>
109 =|
17

R2
TYP. 23 110

110

379
410 mm [1'-4 1/8"]

56 in

874 874

REF.

REF. ™

@ 11 mm X 12 mm SLOT

MK-D120A ~ END COVER PLATE

SCALE 1 1/2"=1'-0"

SHOP NOTES:
1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

1864 mm [6'-1 3/8"]

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

1466 4 A4 3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS,

11 GA (0.1196 ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.
322 1 (0.1196) 4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE

322 155 910 155

REF. FLANGE TEES TO BE ASTM A-992/A-572 GR. 50
5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

48

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK

17
109

NUTS U.N.O.
8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

M
=t
17
109 =}
-
u
30

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE,
WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO
PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

TYP. 2 110

379
410 mm [1-4 1/8"]

PAINT NOTES:
874 874

- - R5E6F_ 1. PAINT (ONE) SHOP COAT PRIMER.
2. PAINT (2) FINISH COATS LIGHT GREY RAL 7035

S
15
REF

@ 11 mm X 12 mm SLOT

MK-D120B ~ MID COVER PLATE

SCALE 1 1/2"=1'-0"

A | MC 7/5/22 |FOR FABRICATION

REV| BY DATE DESCRIPTION APP

REVISION HISTORY

MILLER INDUSTRIES
3070 W. THOMPSON RD.

GENERAL NOTES: PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY
OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

MATERIALS:
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.

MIZAGSNIUM]
CensulEing

41700 Gardenbrook Rd. Phone:  (248) 773-8055
Suite 125 Fax: (248) 773-8051
Novi, MI 48375 Web: www.4Magnum.com

MAGNUM JOB #: 1875

MAGNUM DRAWING #: 1875D120

X=+.060
XX=+.030
XXX = +.005
FRACTIONS = £1/16"
ANGLES = £1°/30'
BREAK ALL SHARP EDGES
DEBURR ALL HOLES
DO NOT SCAI F DRAWING

- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
- ALL HOLES ARE 13/16" DIA. U.N.O.
- ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
(SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
- ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
- PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
- ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

FENTON, MI 48430

PH: 810.373.0322 FAX: 810.373.0326

www.millc.com

AS WHOLE WITHOUT THE WRITTEN
PERMISSION OF MILLER INDUSTRIES
IS PROHIBITED.

TITLE:  P6700 CONVEYORS
CAMPUS BUILDING

CLIENT: VOLVO

DRAWN BY: SGS

CHECKED BY: | CW

DWG DATE:  |6-15-2022

DRAWING No.
1875D120

REV:

JOB No:
22096

J:\Job #1875\New Job Drawings\Details\1875D120.dwg




@38 mm [@1 1/2"]

?10.5 THR

MK-D121A ~ ROLLER WASHER

SCALE 2:1

@35

@56 mm [@2 3/16"]

@14 THRU

MK-D121B ~ MOTOR END SPACER

SCALE 2:1

~13mm [1/2"]

8 mm [5/16"]

10

NO DXF FILE FOR
MARK 2

BILL OF MATERIAL

MIZAGSNIUM]
CensulEing

41700 Gardenbrook Rd. Phone:  (248) 773-8055
Suite 125 Fax: (248) 773-8051
Novi, MI 48375 Web: www.4Magnum.com

MAGNUM JOB #: 1875

MAGNUM DRAWING #: 1875D121

MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D121A
1 1 |BAR5/16X11/2 5/16"
MK-D121B
2 1 |BAR @2 3/16 1/2"
SHOP NOTES:
1. ALL MATERIAL IS TO BE FREE FROM RUST,
SCALE & WELD SLAG
2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
FILLET UNLESS OTHERWISE SPECIFIED.
6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.
PAINT NOTES:
NO PAINT
B | MC |7/13/2022 |REVISED HOLE DIM AND SHOP NOTE
A | MC 7/5/21 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
ATERIALS MILLER INDUSTRIES Ao CORTANED T
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, MI 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.O. PH: 810.373.0322 FAX: 810.373.0326 | A3 HOLE wiHoUT THE wRrTTeN
Hé)flE-é :OTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR O e USTRIES
NLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. )
X = £ 060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TmLe: - P6700 CONVEYORS DRAWNBY: | SGS
W (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
I INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
FRACTIONS = £1/16" WELDS: CLIENT:
ANGLES = 215130 PAl,;A\ILTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |6-15-2022
BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.O. : :
DEBURR ALL HOLES copee: DRAWING No. 1875D121 FiEV.B JOB No:
DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Details\1875D121.dwg


resmith
Text Box
NO DXF FILE FOR MARK 2

resmith
Line


BILL OF MATERIAL
LI MARK [ QTY DESCRIPTION LENGTH REMARKS
1 |MK-D122A
16x_32x 16x 1 1 |MK-DO14A ~ CENTER PIVOT POST
0@ ASSEMBLY
2362 mm 2 4 |MK-DO15A ~ TURNTABLE TRACK
END ROLL SECTION ASSEMBLY
L / é{ 2 3 1 gl;;mz% ~ PPRB 6-ROLL TURNTABLE
2104 mm (0)
FIELD LOCATE (REF.) 1923 mim \ 4 1 |MK-D127A ~ CENTER PIVOT
BASE FRAME TURNTABLE BASE FRAME ASSEMBLY
1244 mm L’j 5 2 |MK-D026A ~ PIVOT TABLE BUMPER
FIELD LOCATE (REF) 6 2 |MK-D033A ~ PROX TARGET
& . 7 | 16 |M12x1.75 x 35mm LG. HEX CAP SCREW
& ENLARGED VIEW 'B 8 4 |M12x1.25 x 75mm LG. HEX CAP SCREW
SCALE L1727 = 1407 (FULLY THREADED)
9 8 |M12 x 1.75 HEX JAM NUT
_ _ _ _ _ . E L 10 | 32 |M12 NARROW FLAT WASHER
(2) —J—————=d - 11 | 16 |M12 x 1.75 STOVER LOCK NUT
= —_— 1 |TOTAL WEIGHT

T > PROX SWITCHES /\/’
: //

(BY OTHERS)

ENLARGED VIEW 'C'

SCALE11/2" =1'-0"

\.' TARGET MOUNTED L
TO FLOOR
PROX.
\ E SECTION 'E-E
A 3 ©) = SCALE 1 1/2" = 1'-0"
229 ' 229 A o3
PROX TARGET (REF.) o| PROX TARGET (REF.) QC =S
- q
_ 1065 4,l 764 1065 / \ =
£l NN -~ | \I\ \X °
S5 N r (Bl \— -
% 9 o o q - o o o o
9 . re e] ‘ O _M_r | o O 1 \'3 AN CABLE
= =_— == " =t 7 9 _ == == v
W t N . NEL™ 0 ENLARGED VIEW 'F ENTRANCE
= Nl & £ E SCALE 1 1/2" = 1'-0"
g § o - T o ° E %O_
—i o O
| 3 ; . /7K | ) —
| ~ . g | | Eﬁ 1/ _—1 L —
M 3 4_ . h ¢_ _ &5 - —
4 J \ P TURNTABLE 2|3 - =
\ — |
%\ © I\\II\\\\\\\\\\\\\\\ | )
o[ ° \ S I’ S =
= E L ] L ]
%: / 3 L/ I//||////////////// [/ /] 1 /]
< & 5
2 4 ‘ /
o —
SECTION 'G-G’
SCALE 3"=1'-0"

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST,

SCALE & WELD SLAG

2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS

FILLET UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5

AND ZINC PLATED

R2147 mim [R7" 1/2] 7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.

8. ALL SLOT LENGTHS ARE END TO END U.N.O.

I SPEED FORMULA ROTATE (60HZ):
'] ‘Q NOTE: WORK THIS WITH INSTALLATION
143 mX1770 X _1 X 203.2 =21.3 m/min =69.9 ft/min DRAWINGS FOR BUMPER, PROX,
PROX TARGET (REF.) 53.01 1000 GRAVITY STOP LOCATIONS AND GUIDE
ROLLERS
- 1980.7 1490.5 - SPEED FORMULA ROLL BED (60HZ):
mX1760 X _1 X 140 =56.2 m/min = 184.5 ft/min
13.61 1000
B | MC 9/6/22 ADDED BALLOONS & PROX TARGET LOCATION
~ ﬁ o DIMENSIONS
1 " - MK — - A | MC | 8/26/22 |FOR FABRICATION
A | o o REV| BY | DATE DESCRIPTION APP
=l ! : ; ; REVISION HISTORY

Ei e P WTERALS e MILLER INDUSTRIES e eANEE S
2 P = - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY

© L mb H  ALL TUBE MATERIAL TO BE ASTM A500, GRADE B UN.O. FENTON, MI 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. . . AS WHOLE WITHOUT THE WRITTEN

—— HC—)fIE.gOTHER MATERIAL TO BE ASTM-A36 U.N.O. Svl\-llvv? :nonggo(?ﬁ% FAX: 810.373.0326 PR S O R INDUSTRIES
N ESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. _
5 %ﬂ@%ﬁ]{g@%{%@ﬂ X = £.060 - ALL BOLTED CONNECTIONS TO BE 34" DIA A325-N TTLe: - P6700 CONVEYORS DRAWN BY: RJB
W (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
2 41700 Gardentrook Ro. Prone:  (248) 773.8055 € KX = £.030 INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
Suite 125 Fax: (248) 773-8051 XXX = +.005 WELDS: CLIENT
Mo, 48478 e e e FRACTIONS = +1/16" ' — :
ANGLES = 215130 PAlﬁLTI? WELDS TO BE "E7OXX". (PER AWS D1.1) VOLVO DWG DATE:  |8/18/22
MK-D122A ~ PPRB 6-ROLL TURNTABLE ASSEMBLY wenmioer B BREAK ALL SHARP EDGES “PAINT PER CUSTOMER SPECFICATIONS UN.O. DRAWING No. REV:_ [JOBNo:
SCALE 3/4"=1-0" MAGNUM DRAWING #: 1875D013 DO NOT SCALE DRAWING AL RENTRANT GUTS T0 BE AN 112 RADIUS UN.O 1875D122 B 22096

J:\Job #1875\New Job Drawings\Details\1875D122.dwg




94 764 1065

1065 764

1065

u—?;ar f“ijﬁr?&* —

1212
B/B
o

C

N S———

j N EEp—— p—

_U_‘F::::q::,r_h

—

— T

RF READER PROVIDED
BY OTHERS

AN

MK-D123A ~ PPRB 6-ROLL TURNTABLE BED

SCALE 3/4"=1'-0"

ENLARGED VIEW "'

SCALE11/2" = 1'-0"

.'ﬁf_k SN W=7, —
] __+__'| - =

18x 8x

ENLARGED VIEW D'

SCALE 6"=1'-0"

ENLARGED VIEW 'G'

SCALE 1 1/2"=1'-0"

VIEW 'A-A' (BELT COVERS ARE
SCALE 3/4"=10" REMOVED FOR CLARITY)

ENLARGED VIEW 'F'

SCALE 3"=1'-0"

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH | ABM # REMARKS
MK-D123A
1 1 |MK-D124A ~ PPRB 6-ROLL TURNTABLE
WELDMENT
2 1 |SIEMENS RB1 GEARMOTOR (SEE 1-1
MOTOR DATA LIST)
3 | 5 |PALLET DRIVEN ROLLER, DUGOMRULLI
PART NO 329638V
4 | 2 |PTI ~ OWFZ207X35A_35 MM SHAFT 31
DIA., 2 BOLT FLANGE BEARING
5 | 3 |GATES POWERGRIP GT4 BELT ~ 21
2400-8MGT-85
6 1 |16 MM DIA. X 85 MM LG HEADLESS 33
FIXTURE PIN HARDENED AND GROUND
SECTION 'C-C' Pt W/RETAINER ~ E&ESP #16-85-MHR
SCALE 1 1/2"=1'-0" 7 1 |MK-D116A ~ DRIVE ROLLER SPACER
8 1 |MK-D116B ~ DRIVE ROLLER SPACER
9 1 |PALLET DRIVER ROLLER, DUGOMRULLI
PART NO 332192V M12
10 | 2 |MK-D114A ~ STATIC WHEEL ASSEMBLY
11 | 10 |MK-D121A ~ ROLLER WASHER
12 | 1 |WCS3B-LS310D READ HEAD ~ 4-1
PEPPERL&FUCHS
13 | 1 |WCS-MP1 ~ BAR CODE READER MTG 4-2
PLATE ~ PEPPERL&FUCHS
14 | 1 |MK-D119A ~ ENCODER READER MTG PL
15 | 1 |MK-D119B ~ ENCODER READER
HORSESHOE PL
16 | 4 |SMITH BRG #MCR-72-SB ~ 72 mm OD X 3-2
1 29 mm W, W/24 mm STUD X 49.5 mm L
ENLA';{C(ELEB){,_IOFW E 17 | 1 |MK-D121B ~ MOTOR END SPACER
19 | 4 |M12x1.75 x 30mm LG. HEX SOCKET
HEAD CAP SCREW
153‘;;’/“ 20 1 [M6x1 x 16mm LG. HEX SOCKET HEAD
1174 CAP SCREW
FIF 05 505 21 4 |M3x0.5 x 10mm LG. HEX SOCKET HEAD
CAP SCREW
22 | 2 |M10x1.5 x 16mm LG. HEX CAP SCREW
23 | 8 |M24 x 1.5 HEX JAM NUT
24 | 18 |NO-SLIP CLIP-ON BARREL NUT-M10 X 34
1.5 MM ~ McMASTERCARR PART #
95210A240
25 | 18 |M10x1.5 x 25mm LG. HEX CAP SCREW
26 | 12 |M10x1.5 x 25mm LG. HEX SOCKET
HEAD CAP SCREW
27 | 13 |M12x1.75 x 40mm LG. HEX CAP SCREW
28 | 5 |M12 SPRING LOCK WASHER
29 | 2 |M5x0.8 x 12mm LG. HEX SOCKET HEAD
CAP SCREW
30 | 2 |M10 SPRING LOCK WASHER
31 | 12 |M12 NARROW FLAT WASHER
32 | 12 |M12 x 1.75 STOVER LOCK NUT
33 | 1 |10 x 8 x 140 LG. ROUNDED 16-1
RECTANGULAR KEYSTOCK
34 | 2 |M6x1x 20mm LG. HEX CAP SCREW
35 | 2 |M6 NARROW FLAT WASHER
SPEED FORMULA (60HZ): 36 | 2 |GATES POWERGRIP GT4 BELT, 2-3
T X1740X 1 X 140 =56.2 m/min = 184.5 ft/min B e TR T
13.61 1000 38 | 1 |MK-D134A ~ RF CODE READER BRACET
39 | 2 |MI10x 1.5 STOVER LOCK NUT
40 | 1 |MK-D133B ~ END COVER PLATE
41 | 1 |MK-D133C ~ MID COVER PLATE
SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST,

SCALE & WELD SLAG

2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS

FILLET UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5

AND ZINC PLATED

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.

TRAVEL
—_— —
F
9
. —— —
S . ( Pas)
3 b b 19) 28
b
HHH
T 2

ENLARGED VIEW 'H'

SCALE 3"=1"-0"

8. ALLSLOT LENGTHS ARE END TO END U.N.O. 5 | mc | o/6/22 |ADDED BALLOONS, SWITCHED LOCATION OF ITEMS
'36' & '5', REPLACED ITEM '18' WITH ITEM '41'
A | MC | 8/26/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAI NOTES:
ATERIALS; MILLER INDUSTRIES o SN s
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.0. : : AS WHOLE WITHOUT THE WRITTEN
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O. 5\,'\_,'\,“? :nongg 6?322 FAX: 810.373.0326 PR S O R INDUSTRIES
HOLES: : :
NLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. )
D@W@Z)%ﬂg%{%gw X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: RJB
Il (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardentrock R Prone: (248) 773.8055 g XX‘_*;OS& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
Novi, M 46375 ok o aagam.cam ERACTIONS = +1/16" WELDS: CLIENT:
ANGLES < 11%,/30‘ PAlﬁLTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |8/18/2022
MAGNUM JOB #1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D100 DO NOT SCALE DRAWING _ ALL RENTRANT CUTS TO BE A MIN 1/2' RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Details\1875D123.dwg



4991 mm [16™-4 1/2"]

345
REF
474.83

45 —_

1493
REF.
1798
REF.
2863
REF.
3306
REF.

3826
REF

3946
4570
REF.

0

519.75 ‘
687.25 :

1l

RS

1297 mm [4-3 1/16"]

OVERALL

1207 e

1252—"

O

NOTE:

SEE DWG. 1875D110 FOR
MACHINING REQUIREMENTS

MACHINE AFTER WELDING IN PLACE

10x

e 764+ .30

° Q
o0

I

A

166.8

b=

o !.$, i o

@ e.-x.@ )

-

P

T
4 i

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST,

SCALE & WELD SLAG

2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
FILLET UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.

8. ALL SLOT LENGTHS ARE END TO END U.N.O.

9. VIBRATORY STRESS RELIEVE WELDMENT

PAINT NOTES:

PAINT ALL FABRICATED STEEL WITH ONE
SHOP COAT OF PURE ORANGE RAL 2004

DO NOT PAINT MACHINED ITEMS, FASTENERS
OF PURCHASED ITEMS.

MK-D124A ~ PPRB 6-ROLL TURNTABLE WELDMENT

SCALE 3/4"=1'-0"

28
REF.

70

ENLARGED VIEW 'B'

SCALE 1 1/2" = 1'-0"

ENLARGED VIEW 'C'

SCALE 3"=1'-0"

SECTION ‘A-A'

SCALE 3/4"=1'-0"

1207

BILL OF MATERIAL

MARK | QTY DESCRIPTION LENGTH

ABM #

REMARKS

MK-D124A

1 1 |MK-D125A ~ PPRB 6-ROLL TURNTABLE

A SIDE FRAME
2 1 |MK-D132A ~ MID FRAME
3 4 |MK-D107A ~ INNER CROSS MEMBER

4 1 |MK-D110B ~ INNER CROSS MEMBER
WELDMENT-RH

5 1 |MK-D110A ~ INNER CROSS MEMBER
WELDMENT-LH

MK-D118A ~ BAR CODE READER BRKT

N[

MK-D111A ~ MOTOR MOUNTING PLATE

MK-D111B ~ RETAINER

ORIV
-
o

MK-D227B ~ STIFFENER PLATE

MK-D111D ~ CLEVIS

MK-D113A ~ BRACKET

MK-D113B ~ ENCODER BRACKET

M8x1.25 x 25mm LG. HEX CAP SCREW

M8 NARROW FLAT WASHER

M8 x 1.25 STOVER LOCK NUT

MK-D130A ~ END FRAME

—
w
HININIDAINININD|(-N

MK-D125B ~ SIDE FRAME

TOTAL WEIGHT = 1175.5 Lbs

HOLD
-
— T — _H>J
0 O
/ 0
7 .| ) 7 eyl =D\
®
ADDED BALLONS, UPDATED DESCRIPTION OF ITEM
- B | MC | 9/6/22 |
SECTION 'E-E 3
SCALE 3"=1'-0" A | MC | 8/26/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
VATERIALS MILLER INDUSTRIES o o s
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.0. PH: 810.373.0322 FAX: 810.373.0326 | /s oL wrout e wRimen
- ALL OTHER MATERIAL TO BE ASTM-A36 UN.O. -
HOLES: WWW.mIHC.Com IS PROHIBITED.
NLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O, )
D@W@Z)%ﬂg%{%gw X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: RJB
o (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Garderibrock R Prone:  (249) 773,055 = Xx_jéoo?s INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKED BY:| CW
ﬁgt\e 11\/I2I548375 Waexb: ENWV\?AME’QnumvCOm FRA.CT|ONS_.= +1/16" WELDS: \ \ CL| ENT
ANGLES = 215130 PAlﬁLTIT WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |8/18/22
MAGNUM JOB #1875 BREDAEKBCIF-QIE{S,AT/EZ%EESES - PAINT PER CUSTOMER SPECIFICATIONS UN.O. DRAWING No. REV: JOB No:
COPES:
MAGNUM DRAWING #: 1875D101 DO NOT SCALE DRAWING _ ALL RENTRANT CUTS TO BE A MIN 1/2' RADIUS UN.0 1875D124 22096

J:\Job #1875\New Job Drawings\Details\1875D124.dwg




70

BILL OF MATERIAL
St ¢ 39mm L6 SLOT MARK | QTY DESCRIPTION LENGTH | ABM # REMARKS
(8x) MK-D125A
/ > 1 1 |PL3/16x1'-13/8 16'-4 1/2"
EE E__/ @14mm x 28mm LG SLOT—_ MK-D125B
K o I S — m— 2 1 |PL3/16 x 1-1 3/8 16'-4 1/2"
X—\
1/
ENLARGED VIEW 'D' ENLARGED VIEW 'C'
SCALE 6"=1"-0" SCALE 6"=1'-0"
I —~ o | ] -
o5 [ |
oo o - i—es— - i o | c
e i i — B i e e . - e 1 - - - - = - - 1 = - - —= - 1 - = —————
—— —— - P N —— — - —— ——
o ] -1
- - @11 THRU
S 3 288 8 8 @ g
-%e B F B 3% 88 528 8 E 2888 L —o| 8| <——-|— g 8 B2 SAFE 5 REE 2 $eLEET I8 2§98 sy
\// | ) YAy | ] )\
0 7 A 49.05 | | =
ST N T S555~ [ 11 ) i ' T T
57.5 _|I \ 46 oo _\_\—=| = !_+_ _49_ I _45_ &41 ld 6 = o oo |]
\\ // 54.50 —— 150.00 64.55— 0 0 55 0 0
98.5 —|| 158,00 7918~ '_+_ _+_ _+_ _+_ |¥95 Tl ’ ‘ ‘ ﬂ 2
151.5 — | — . —— =_/_165.76 I ———— I —— | I I ——— T — | T ——— | [— T ———— I — | o~
190.5 -1 0 l Ll] 0 J |]_¥—192 . ' 0 J l J 0 , 0 J L 0 0 L 0 uu 0 " L TYP.
ois——pd Ol L o 0l N O | O 0 ! 0o /1 J ol 0o ol 0 U] . v_
250.0 219.76 — L
17N AN T 7 NI A K 2L/ s ¢
o > b R 3 38R SR 8% oK KE8R 2338493 2 e 22 8% 8 % 24 2888 S5 Fg% 0 3 d e
a8 HEL S 3 o 5 8358 @ 9 CE "8 3888 §388 8" 2 3 g 8 22 7 8 88 2828 2 3 SR 22 E
MK-D125A ~ SIDE FRAME (SHOWN)
MK-D125B ~ SIDE FRAME (OPPOSITE)
SCALE 1 1/2"=1'-0"
4991 mm [16'4 1/2"]
ITEM '1' BEND UP 90° R4
/ ITEM '2' BEND DOWN 90° R4
- —— —— / & & —— & — & ——
Ve o - - - - - o - - - - - - o o o o a B o o o o o B B o B o o o B o B o o o
= [ v oo v —=, 4 & \( - = \/ . \( [
: TN 4 T T
E 0 I I I I 0 I I I
o _L_ll_ _ _ o _ _ _ ! _ a _ _ _ _ _ o _ _ 0_ _ _ _ _ _ _ ! _ o _ _ _ 1] _ _ 0 _ _ _ _ _ _ 0 _ _ _ﬂ_
R e—eo f - - - - o
ITEM '1' BEND DOWN 90° R4—/
[TEN 2/ BEND UP 90° R4 FLAT PATTERN OF ITEM '1' & '2'
SCALE 1 1/2"=1'-0"
90
n ()
46 e el s —— —— el e e A Y i i | I S S SEN S S } SN Y S A S S—
/ — \
B————— ——— 2 R
42.84
95 65 65 95
12.5 THRU
90 (Q;X) SHOP NOTES:
4% 45 1. ALL MATERIAL IS TO BE FREE FROM RUST,
N DS OTHRY SCALE & WELD SLAG
23 o ’ 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
" = 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
r \ = ol _q;_ - 4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
\ — < 5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS Cc | Mc |9/20/2022 |FLIPPED FLAT PATTERN END TO END
FILLET UNLESS OTHERWISE SPECIFIED.
5 ) -d}— 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 B | MC 9/6/22 SE;LCJ:SR-;EI?ISKOT SPACING, CORRECTED PART
5 AND ZINC PLATED
- 7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE A | MC | 8/26/22 |FOR FABRICATION
\ < ] L ] \ APPLICABLE) WITH MK IDENTIFIERS. REV| BY DATE DESCRIPTION APP
D gi‘)* THRU 8. ALL SLOT LENGTHS ARE END TO END U.N.O. REVISION HISTORY
PAINT NOTES: WATERALS. o MILLER INDUSTRIES o Com N S
R2.25 TYP. 1 PAINT AFTER WELDING - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
I S e S —— — AL ok o s FENTON, Wi 40490 £
17.20£ 10 - ALL OTHER MATERIAL TO BE ASTM-A3 UN.O. Svl\_llvv?:n%lzggoon?z FAX:810.373.0326 PERMISSION OF MILLER INDUSTRIES
HOLD 137 100 HOLES: . .
NLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O, )
ENLARGED VIEW 'A' E@W@Z)%ﬂg&g{%gw X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: RJB
o (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
SCALE 6"=1'-0" 41700 Gardenbrook Rd. prone: 4o 773055 Sl 52(;()(‘_*;003(?5 INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BU”—DlNG CHECKED BY: CW
ﬁgi\:\e, 11\/I2I548375 \ila:l;: \AZ/\‘:/\BNZIZ/I?;QSSS;com ) - _._ " WELDS .
ENLARGED VIEW 'B' FRACTIONS =118 Lo Tose E70xc peR ANSOL Y CLENT: /51 VO DWGDATE. [8//2022
"= 1-0" =1 PAINT:
SCALE 37 =1-0 MAGNUM JOB # BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
DEBURR ALL HOLES COPES: 1875D125 C
MAGNUM DRAWING #: DO NOT SCAIF DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Issued\22-09-20 Bend Revs 2\1875D125 - REV C.dwg



BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D126A
1R 1 |UNISTRUT P4000 ST 1'-2 3/4"
1L 1 |UNISTRUT P4000 ST 1'-2 3/4"
2 2 |MK-D034B ~ PROX BRACKET
3 4 |CHANNEL NUT FOR 5/16"-18, UNISTRUT
P3007
4 4 |5/16-18UNC x 1" LG. HEX HEAD CAP
SCREW
5 4 |5/16 TYPE B REGULAR FLAT WASHER
6 4 |5/16 SPRING LOCK WASHER

100

@14 THRU
/ +

I §

104

(-439) 71y001 @13l
0S¢

SECTION 'A-A II I

SCALE 6"=1'-0"

375 mm [1'-2 3/4"]

350

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST,

SCALE & WELD SLAG

2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
‘ ‘ 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

o (L5 5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
- LT FILLET UNLESS OTHERWISE SPECIFIED.
6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
@ AND ZINC PLATED

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.

I
—
i

PAINT NOTES.:

PAINT ALL FABRICATED STEEL WITH ONE
SHOP COAT OF PURE ORANGE RAL 2004

DO NOT PAINT MACHINED ITEMS, FASTENERS
OF PURCHASED ITEMS.

REF.

21 mm [13/16"]

DETAIL OF ITEM '1IR' (SHOWN)
DETAIL OF ITEM "1L' (OPPOSITE)

SCALE 6"=1'-0"
A MC 8/26/22 |FOR FABRICATION
REV| BY | DATE DESCRIPTION APP
g REVISION HISTORY
GENERAL NOTES:
VATERIALS: MILLER INDUSTRIES BT AlD CONFIOENTIAL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. . : AS WHOLE WITHOUT THE WRITTEN
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O. Svl\-llvv? :nongg (')%:322 FAX: 810.373.0326 PR S O R INDUSTRIES
MK-D126A ~ SENSOR STAND HO&\EE:HOLES ARE 13/16" DIA. UN.O : .
SCALE 3"=1-0 D@W@Z)%ﬂg%{%gw X = .060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: RJB
o (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
41700 Gardentrook R hone:  (248) 773.6055 g %X‘_ﬁog& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| cw
Now: tat 18375 b e com ERACT O&ST - 116" WELDS: CLIENT:
ANGLES = 215130 PAlﬁLTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |8/18/22
MAGNUM JOB #1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D023 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

J:\Job #1875\New Job Drawings\Details\1875D126.dwg




1383 1383

(BY OTHERS)

PROX. SWITCHES

MK-D127A ~ CENTER PIVOT TURNTABLE BASE FRAME ASSEMBLY

SCALE 1"=1'-0"

MIZAGSNIUM]
CensulEing

41700 Gardenbrook Rd. Phone:  (248) 773-8055
Suite 125 Fax: (248) 773-8051
Novi, MI 48375 Web: www.4Magnum.com

MAGNUM JOB #: 1875

MAGNUM DRAWING #: 1875D127

X=+.060
XX=+.030
XXX = +.005
FRACTIONS = £1/16"
ANGLES = £1°/30'
BREAK ALL SHARP EDGES
DEBURR ALL HOLES
DO NOT SCAI F DRAWING

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D127A
1 1 |MK-D128A ~ BASE FRAME WELDMENT
2 3 |MK-D020A ~ IDLER WHEEL ASSEMBLY
3 1 |MK-D021A ~ DRIVE WHEEL ASSEMBLY
4 1 |MK-D022A ~ DRIVE WHEEL TRACK
BRUSH - LH
5 1 |MK-D022B ~ IDLE WHEEL TRACK
BRUSH - LH
6 2 |MK-D022C ~ IDLE WHEEL TRACK
BRUSH - RH
7 16 [1/2 SPRING LOCK WASHER
8 16 |1/2 TYPE B REGULAR FLAT WASHER
9 8 [1/2-13UNCx 1 1/2" LG. HEX HEAD CAP
SCREW
10 8 |1/2-13UNC x 1 3/4" LG. HEX HEAD CAP
SCREW
11 2 |MK-D126A ~ SENSOR STAND
12 4 |M12x1.75 x 30mm LG. HEX CAP SCREW
13 4 |M12 x 1.75 STOVER LOCK NUT
SHOP NOTES:
1. ALL MATERIAL IS TO BE FREE FROM RUST,
SCALE & WELD SLAG
2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
FILLET UNLESS OTHERWISE SPECIFIED.
6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.
PAINT NOTES:
PAINT ALL FABRICATED STEEL WITH ONE
SHOP COAT OF PURE ORANGE RAL 2004
DO NOT PAINT MACHINED ITEMS, FASTENERS
OF PURCHASED ITEMS.
B MC 9/6/22 |GEOMETRY UPDATED PER ITEM '3'
A MC 8/26/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
WATERIS: e MILLER INDUSTRIES o AR oot
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
AL O i cude sl FENTON MBS0 srocms |eii i,
HC—)fIE.gOTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR O e USTRIES
" ALL BOLTED CONNEGTIONS TO BE 34" DIAASZ5 N TITLE: - P6700 CONVEYORS DRAWNBY: | RJB
INSTALLED IN SNUG TIGHT CONDITION. UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
" kELS WELDS TO BE "E70XX". (PER AWS D1.1) CLIENT: VOLVO DWG DATE:  |8/22/22
Plflygim PER CUSTOMER SPECIFICATIONS U.N.O. DRAWING No. REV: JOB No:
C-(A)\EE%ENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 1875D127 B 22096

J:\Job #1875\New Job Drawings\Details\1875D127.dwg



BILL OF MATERIAL
1753 | 1753 MARK [ QTY DESCRIPTION LENGTH | ABM # REMARKS
i MK-D128A
7) - . 351 1 | 2 [PL1/4x111/8 11-8 7/16"
= 2 | 1 |c12x20.7 3-11 3/8"
3 3 2 |PL1/4x163/16 7'-5 3/16"
D i 4 4 |PL1/4x47/8 6 5/16"
5 /o | // A 5 | 4 [PL3/8x109/16 1-9 13/16"
AN , 6 | 3 [PL3/8x67/16 93/16"
N 203 7 | 1 [PL3/8x137/8 13 5/8"
s 11 JoLs 8 1 |PL1/4x3 7/8 1-3"
§ ) 9 | 4 [PL3/8x33/8 6 15/16"
) @>\ X — N 10 | 2 [L21/2x21/2x1/4 3-11 7/8"
5 S — 5 = 11 | 4 [PL1/4x11/2 115/16"
QD/ , e 3 ( 12 | 2 [PL3/8x11/2 93/16"
N — @14 THRU ~ n
% / A : o " 13 | 8 |[C6x8.2 1'-7 11/16
S : : A [~ = e
g o 5 / I SECTION 'C-C T a |~ aal e
% 2 /¢14 THRU , LLL| A EfF \@ SCALE 3/4"=1"-0" = I
: = (2x) o b o § % §
5z { () * s == 3 o 1 X - '
E|= 13 \ °\,J . / 14 THRU—"| o ! ) ) ) - 4 b [T AUSTHRY
§ \\\ .TT, / / (2x) o~ 397 mm [1'-3 5/8"]
~ N haN 279
o3 Sl= < A 180
- @\ I T I//@ //'[l \@ 10mm [3/87 |, Q /@
I_
\‘L /@ @/ F——————9 N ——)
_\L‘&gh_ _______ —_— a1 —_y s Y _|l_|.l:L,_ » N o~ o | |
0], 28
4 )
SECTION 'D'D' 117 =
SCALE 3/4"=1'-0" REF. g | | —
354 I @ 9 e ‘ "
i 3567 ITEM 1 ENLARGED VIEW 'A' | o I = A7
\° \ / °/ SCALE 1 1/2"=1'-0" ]
W) : o/ *
297
: ©

DETAIL OF ITEM '5' & 7'

SCALE 1 1/2"=1'-0"

PLUG WELD TYP. (8x)
12 11
| 500 mm [1'-7 11/16"] |
:5 ¥ — — 5 ™

|
EI r N\ | o ‘ [ ™
A S5 3 — P S ___l.’
Bl A - | ———=5 4 AN - S— 14
. ' 8 SN V7
= | 25 / 60 100
' 6 mm [1/4"
- 3567 @ 4 / _ 149 402 mm [
= ITEMS 1'& 2 602 L 602
-t
MK-D128A ~ BASE FRAME WELDMENT DETAIL ITEM '13' 233 mm [9 3/16']
SCALE 3/47=1-0" 553 mm [1-9 13/16'] SCALE 1 1/2"=1%0"
© @ E’%’l 50 mm [1 15/16"] 10 mm [3/8"]
3567 mm [11'-8 7/16'] s £
- 244 65 244 = .
N " [+ O Fe
1SS
2 212 129 212 E J
- REF. & I_L_|
] I - — - — _ — - - - - - - - — 14 THRU
DOWN 90° R6 | | ’ (2x)
DOWN 90° R6 -
8"_ O ~ ~ ~ ~ ~ — ~ ~ ~ ~ ~ - ! DOWN 90° R10 3
; e i DETAIL OF ITEMS '11' & '12'
= | | | —F
/é % = @ iji 53 3 — \ I 'q} | / ¥ 380 mm [1-3'] 6 mm [1/4] SCALE 3"=1'-0"
@14mm x 27mm LG SLOT —~ % & & g I Q & T (
(8%) = %
: Gy | - |
86 mm [3 3/8"] & 2 A Ey s ¢ | a
FLAT PATTERN OF ITEM '1' . - \ & B 358 1 1
PP 10 mm [3/8"] 43 @14 THRU , |
SCALE 3/4"=1'-0 (4x) Q!
@\\ DETAIL OF ITEM '8
] ' ! SCALE 1 1/2"=1"-0"
= A Tl LR \ | ® @ | >
i = (2x) S rio
5 _ _ TYP.,
2265 mm [7'5 3/16"] _ & 5 250 52
82 E‘ ‘ g B | REF.
— S ‘Q‘ FLAT PATTERN OF ITEM '5'
\__ } _ _ DOWN 90° R6 _ _ _ __/ = [ | SCALE 3"=1"-0"
S _ : 124 mm [4 7/8"
| _ DOWN 90° R6 ] v SHOP NOTES: S 6 mm [1/4' MATERIALS IN B.O.M. WERE BAR NOW PLATES.
/ ! N L ALL MATERIAL IS TO BE FREE FROM RUST, _ TR C | MC | 9/6/22 |ADIUSTED DMENSIONS ON FLAT PATTERN OF ITEM
DETAIL OF ITEM '9' SCALE & WELD SLAG e i "
g‘ 89 | o SCALE 3'=1-0" 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE &> | ° _
a FLAT PATTERN OF ITEM '3 = 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS = | B | MC | 8/26/22 |UPDATED CUT OUTS TO ITEM '5
SCALE 3/4"=1'-0" ; 4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED E A | MC | 8/26/22 |FOR FABRICATION
E 164 mm [6 7/16"] 5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS = 14X 45° CHAMFER : REV| BY DATE DESCRIPTION APP
: ; 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 DETAIL OF ITEM '4' REVISION HISTORY
¥ 147 |, 9 . : .
4! - R AND ZINC PLATED SCALE 1 1/2'=1-0" WATERILS. e MILLER INDUSTRIES o AR oot
o ) 7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
= APPLICABLE) WITH MK IDENTIFIERS. - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, MI 48430 REPRODUCTION IN PART OR
= N 8. ALL SLOT LENGTHS ARE END TO END U.N.O - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B UN.0. PH: 810.373.0322 FAX: 810.373.0326 | ASWHotE wirHouT e wRrrren
st N : N.O. - ALL OTHER MATERIAL TO BE ASTM-A36 UN.O. wWww miile.com N OF MILLER I
@/ £ 9. VIBRATORY STRESS RELIEVE WELDMENT HOLES: ‘millc.
= INLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. _
& PAINT NOTES: %ﬂ@%ﬁ]{g@%{%@ﬂ X = £.060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TImLe: - P6700 CONVEYORS DRAWN BY: RJB
_ > ' W (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
ELLIE L T EAI(')\‘T (’%L F,gBRICATE(l)) STE([JEL WIT';()(;NE 1700 Carentrook R rrone gt s = %X‘_ﬁog& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKED BY:| CW
HOP COAT OF PURE ORANGE RAL 2004 e s e CTIONS = £1/16" WELDS: CLIENT:
DO NOT PAINT MACHINED ITEMS, FASTENERS s e +/LL WELDS TO BE E7IX. (PER AWS D11 VOLVO DWG DATE:  |8/22/22
DETAIL OF ITEMS '5' & '6' OF PURCHASED ITEMS. MAGNUM JOB #: 1885 BREDAEKBCIF-QIE{S,AT/EZ%EESES - PAINT PER CUSTOMER SPECIFICATIONS UN.O. DRAWING No. REV: JOB No:
COPES:
SCALE 1 1/2"=1"-0" MAGNUM DRAWING #: 18750128 DO NQT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.0 1875D128 C 22096

J:\Job #1875\New Job Drawings\Details\1875D128.dwg




1232

337

(4x)

553

FLAT PATTERN OF ITEM '1°

SCALE 3"=1'-0"

80 70

65

10

|_ ——————————————————————— e — — — — — — — — — — — — — — — — — — — — — — — _l g—l—l_‘_
) ) ) ) %
e
\_/ \_/ \_/ \_/ §
) ) ) ) :
\/ \/ \/ \/ L4
RS
————————————————————————— S ki @
| A | N
MK-D130A ~ END FRAME
SCALE 3"=1'-0"
1232 mm [4- 1/2"]
599 1.8
314 x 62 LG. SLOT THRU
I (8x)
B ~ \
|
: | \_“_ &\ 8l o
__ L _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ ] <
| | L  R1 \ N .
I BEND UP 90° RS TYP. -
I L OO L 0 0 » .
y TR e | | _
Jol Y U U | Z
I 1 =
Bl ! g . ho s
i i TYP. i i o
* \V ' \V N% N% L )
: | 4$7 4$7 BEND UP 90° RS —63—
| “\_,’>_ B B B B B B 17_ B B B B B B B B T
| <|‘ <
| } A
|
R @14 x 27 LG. SLOT THRU—"]

MIZAGSNIUM]
CensulEing

(248) 773-8055
(248) 773-8051
www.4Magnum.com

41700 Gardenbrook Rd. Phone:
Suite 125 Fax:
Novi, MI 48375 Web:

MAGNUM JOB #: 1875

MAGNUM DRAWING #: 1875D130

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D130A
1 1 |PL3/16 x1'-5/16" 4'-1/2"
13
|
T
|
e |
S \L/
- 0
|
|
. 3 X 45° CHAMFER
TYP. L/
13
21
67 4
ENLARGED VIEW 'B'
SCALE 6" = 1'-0"
SHOP NOTES:
1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.
2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.
3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS,
ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.
4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE
FLANGE TEES TO BE ASTM A-992/A-572 GR. 50
5. ALL FASTENERS TO BE ZINC PLATED U.N.O.
6. ALL BOLTS TO BE ASTM A-325 U.N.O.
7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK
NUTS U.N.O.
8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.
9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE,
WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO
PAINTING.
10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
11. ALL SLOT LENGTHS ARE END TO END U.N.O.
PAINT NOTES:
PAINT AFTER WELDING
A MC 8/26/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
VATERIALS: MILLER INDUSTRIES BT AlD CONFIOENTIAL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B UN.O. FENTON, MI 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. PH: 810.373.0322 FAX: 810.373.0326 | A3 HOLE wiHoUT THE wRrTTeN
HC—)fIE.gOTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR S O R INDUSTRIES
: - ALL HOLES ARE 13/16" DIA. UN.O. _
Wﬂx - 1060 - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: RJB
ST (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
I INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
FRACTIONS = £1/16 " kELS WELDS TO BE "E70XC (PER AWS D1.1) CLIENT: VOLVO .
ANGLES = +1°/30' PAINT: ' ' DWG DATE:  |8/22/22
BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.O. . .
DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

J:\Job #1875\New Job Drawings\Details\1875D130.dwg



/

117

A Ahs

REF.
Y/
| |
|
e
|
—
o |
| |
| =
|
—r——
] a al
W — B4 T —
2
163
REF.

MK-D131A ~ STOP TRIGGER

SCALE 3"=1"-0"

90 mm [3 9/16"]

25

M
),
M

=4

@14 x 27 LG SLOT
(20)

27 90

145 mm [5 11/16"]

DETAIL OF ITEM '5'

SCALE 6"=1'-0"

NOTE:

FOR EXACT POSITION OF MK-D052A,

REFER TO LAYOUTS

BILL OF MATERIAL

MARK | QTY DESCRIPTION LENGTH ABM #

REMARKS

MK-D131A

1 1 |MK-D131B ~ ATTACHMENT BASE

MK-D050B ~ UPPER ADJUSTMENT

N

3 1 |MK-DO50D ~ LOWER ADJUSTMENT

MK-D131B
4 1 [TS21/2x21/2x7 GA. 2"
5 PL 1/4 x 3 9/16" 511/16"

6 2 |M10 x 1.5 HEX NUT

41 64 41
REF.
4
32
\ 1 |
5 | L] S
: ] — |
2 | [ |
| | |
@14 THRU/ |
3 N, >, o 5

MK-D131B ~ ATTACHMENT BASE

SCALE 6"=1'-0"

SHOP NOTES:
1. ALL MATERIAL IS TO BE FREE FROM RUST,
SCALE & WELD SLAG

TACK WELD

o1/ <%
|

2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
4. ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS

FILLET UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5

AND ZINC PLATED

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE

APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT NOTES:

PAINT ALL FABRICATED STEEL WITH ONE
SHOP COAT OF PURE ORANGE RAL 2004

DO NOT PAINT MACHINED ITEMS, FASTENERS
OF PURCHASED ITEMS.

A | MC | 9/14/22 |FOR FABRICATION

MIZAGSNIUM]
CensulEing

41700 Gardenbrook Rd. Phone:  (248) 773-8055
Suite 125 Fax: (248) 773-8051
Novi, MI 48375 Web: www.4Magnum.com

MAGNUM JOB #: 1875

MAGNUM DRAWING #: 1875D131

X=+.060
XX=+.030
XXX = +.005
FRACTIONS = £1/16"
ANGLES = £1°/30'
BREAK ALL SHARP EDGES
DEBURR ALL HOLES
DO NOT SCAI F DRAWING

REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
VATERIALS: MILLER INDUSTRIES PROPRIETARY AND CONFIDENTIAL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.0. . : AS WHOLE WITHOUT THE WRITTEN
- ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O. Svl\-llvv? :nongg (')%:322 FAX: 810.373.0326 PR S O R INDUSTRIES
HOLES: : .
- ALL HOLES ARE 13/16" DIA. UN.O.
- ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE:  P6700 CONVEYORS DRAWN BY: RJB
(SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BU”—DlNG CHECKED BY: CwW
WELDS: CLIENT
- ALL WELDS TO BE "E70XX". (PER AWS D1.1) - VOLVO DWG DATE:  |8/22/22
PAINT:
- PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
COPES:
- ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 1875D131 A 22096

J:\Job #1875\New Job Drawings\Details\1875D131.dwg



213 mm [8 3/8"]

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D132A
1 1 |PL3/16 x 8 3/8" 16'-2 5/16"
@13mm x 28mm LG SLOT
(9x) ( f)
|
S Je [ N | T e e - [ [ & - - le 2 n_:
‘—c“— == [I
17 L 724 724 114 874 874 118 724 724 17 ”
3519 ENLARGED VIEW 'A'
SCALE 3"=1'-0"
3320
2121 _
1506
730 -_
//’ Bt N -
LT TN //’_N\ N\ e \\ !_ | 40
/ \ *’—‘*
ﬁ I/ \\ / x I/ \\ | + -
] / ] \ ]
| [ + u HE T + e + HY b =1 e
I T T N Lo N LV —— T |
\ / | *
\ A / \ B / \ / | ' 40 =
~ay C »~ L) =
£
MK-D132A ~ MID FRAME
SCALE 1 1/2"=1'-0"
4936 mm [16™-2 5/16"]
1065 764 1065 1065 764 107
3 BEND UP 90° R4
\ R60—\
_ _ _ _ N _ _ _ _ _ _ _ N\ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _4%
0 1 o [ — o — 0 1 o [ —] o 0 1 B
L] _ _ _ |]_ _ _ _ _ _ _ _ _ ] _ _ _ _ _ _ _ _ _ _ |]_ _ _ _ _ _ _ _ _ _ _
o o o o A o o o
2 BEND DOWN 90° R4
SHOP NOTES:
1. ALL MATERIAL IS TO BE FREE FROM RUST,
141 SCALE & WELD SLAG
FLAT PATTERN OF ITEM '1 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
SCALE 1 1/2"=1"-0" 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
4, ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
FILLET UNLESS OTHERWISE SPECIFIED.
6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.
= ) PAINT NOTES:
3 5 sl PAINT AFTER WELDING
0 &
o 6 0
I (4x) £’|'|<_
1y 2820 4 28 ) 411 < B | MC | 9/6/22 [DIMENSIONS AND SLOT LOCATIONS UPDATED
g B — N\ A | MC | 8/26/22 |FOR FABRICATION
¢ ARIEE) REV| BY | DATE DESCRIPTION APP
3 < —K ,
) 1 6 10 SCALE 3"=1'-0" MATERIALS: MILLER INDUSTRIES NFORMATION GONTAIED IN THIS
S -~ - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
A - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B UN.O. FENTON, MI 48430 REPRODUCTION IN PART OR
&Sl e e e e e e e e e e e e e e —— - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. PH: 810.373.0322 FAX: 810.373.0326 AS WHOLE WITHOUT THE WRITTEN
" HC—)fIE.g:OTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR S O R INDUSTRIES
I UNLESS OTHERWISE NOTED: - ALL HOLES ARE 13/16" DIA. UN.O. )
‘ % ENLARGED VIEW 'C' D@Wé%ﬂg%{%gw X = £ 060 | - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TmLe: - P6700 CONVEYORS DRAWN BY: RJB
- o Wl (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
SCALE 37=1-0 41700 Gardenbrook Rd. Phone:  (248) 773-6055 Sl 52(;()(‘_*;003(?5 INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAM PUS BU | LD | N G CHECKED BY: CW
e . FRACTIONS = +1/16 N ALLWELDS T0 8E *ET0N0 (PER AWS D1.1) CLENT: voLvo
ENLARGED VIEW 'D' ANGLES = +1°30 PANT | | DWGDATE: _|8/19/22
SCALE 6"'=1-0" MAGNUM JOB # 1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.O. DRAWING No. REV: JOB No:
DEBURR ALL HOLES COPES: 1875D132 B .
MAGNUM DRAWING #: 1875D132 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 12" RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Details\1875D132.dwg



16

378

16

563 511 12 BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
145 . MK-D133A
1 1 |SHT11GAx1'-41/8" 5-11/2"
44 44 1
354 MK-D133B
= MK-D133C
3 1 |SHT11GAx1'-41/8" 6'-1 3/8"
o b Al U e b
= L = L _J
_kﬁg £ SHOP NOTES:
' 1. ALL MATERIAL IS TO BE FREE FROM RUST,
3 R3 3 SCALE & WELD SLAG
TYP. 2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
= 3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
TT— R2 3 4, ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
TYP. 110 23 - 5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
110 23 = FILLET UNLESS OTHERWISE SPECIFIED.
g 6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.
PAINT NOTES:
ja_ —O— PAINT ALL FABRICATED STEEL WITH ONE
SHOP COAT OF PURE ORANGE RAL 2004
] DO NOT PAINT MACHINED ITEMS, FASTENERS
1 PLLx12 L6, SLOT T'ZGRXL; OF PURCHASED ITEMS.
724 724 57
REF.
1563 mm [5'-1 1/2"]
4, 4
MK-D133A ~ END COVER PLATE - %81
SCALE 3"=1'-0" 354
155 909 155 286
& _ 1
- @ N = - e e
) R )R
R5 _ P R5 / ‘
TYP. R3 TYP. o
3 TYP. S
g L |
3 R2 —1 R —T |
& Tvp. |23 110 TYP. 23 110 =
—— —R ——
)
57 724 \ 724 | 57 ol
REF. ol
\—¢11 x 12 LG. SLOT THRU =
M. 4 1864 mm [6'-1 3/8"] (6)
354
155 910 155 322 MK-D133B ~ END COVER PLATE
SCALE 3"=1'-0"
N [Ce)
7 2 - 2 - T
rs —] _J_k_ R5 —] _J_ﬂ_
TYP. TYP.
a %
R2 —1 Rz —1 | -
TYP. 23 110 TYP. © a
23 110 « £
= ADDED ITEM MK-D133C, FLIPPED MK-D133B, &
B MC 9/6/22 |ADJUSTED SLOT LOCATIONS ON ALL END COVER
PLATES
A MC 8/26/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
5 - WIERAS MILLER INDUSTRIES P ap CouFoETL
| f | - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
874 - 874 —l 60 } - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, MI 48430 REPRODUCTION IN PART OR
9l - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. . . AS WHOLE WITHOUT THE WRITTEN
@11 x 12 LG SLOT THRU é & Hoflég OTHER MATERIAL TO BE ASTM-A36 UN.O. SVUW\?:T%%720%22 FAX: 810.373.0326 PERMISSION OF MILLER INDUSTRIES
(6x) : ' ’
AA : - ALL HOLES ARE 13/16" DIA. UN.O. )
MK-D133C ~ MID COVER PLATE D@W@Z)%ﬂg%{%gw HHLESS QI HERTISENOTED - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: RJB
- ~ ST (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
SCALE 3"=1'-0" 41700 Gardenbrook Rd. Phone:  (248) 773-6055 Sl f;x‘_ﬁog& INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAM PUS BU | LDlNG CHECKED BY: CW
Nows Vi 45375 o e e com ERACT O&ST - 116" WELDS: CLIENT:
ANGLES = 215130 PAlﬁLTI? WELDS TO BE "E70XX". (PER AWS D1.1) VOLVO DWG DATE:  |8/19/22
MAGNUM JOB #1875 BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.0. DRAWING No. REV: JOB No:
MAGNUM DRAWING #: 1875D133 DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 12" RADIUS UN.0 22096

J:\Job #1875\New Job Drawings\Details\1875D133.dwg




94

150

150

MK-D134A ~ RF CODE READER BRACKET

SCALE 1'-0" = 1'-0"

106

6 mm [1/4"]

MIZAGSNIUM]
CensulEing

41700 Gardenbrook Rd. Phone:  (248) 773-8055
Suite 125 Fax: (248) 773-8051
Novi, MI 48375 Web: www.4Magnum.com

MAGNUM JOB #: 1875

MAGNUM DRAWING #: 1875D134

BILL OF MATERIAL
MARK | QTY DESCRIPTION LENGTH ABM # REMARKS
MK-D134A
1 1 |PL1/4x57/8 1'-7/8"
150 mm [5 7/8"]
5 65 70
REF.
M5x0.8 THRU
/ (2x)
Al 4 N
i #/
A\
/__ UP 90° R6 —
RS S
TYP. =)
e
1S
| DOWN90°R6 |
@11 THRU
(ZX)\\‘GB
A\ i
75 38 38
FLAT PATTERN OF ITEM '1'
SCALE 6"=1'-0"
SHOP NOTES:
1. ALL MATERIAL IS TO BE FREE FROM RUST,
SCALE & WELD SLAG
2. ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE
3. REMOVE ALL EXPOSED SHARP EDGES AND BURRS
4, ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED
5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS
FILLET UNLESS OTHERWISE SPECIFIED.
6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5
AND ZINC PLATED
7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE
APPLICABLE) WITH MK IDENTIFIERS.
8. ALL SLOT LENGTHS ARE END TO END U.N.O.
PAINT NOTES:
PAINT ALL FABRICATED STEEL WITH ONE
SHOP COAT OF PURE ORANGE RAL 2004
DO NOT PAINT MACHINED ITEMS, FASTENERS
OF PURCHASED ITEMS.
B MC 9/6/22 |DESCRIPTION UPDATED
A MC 8/26/22 |FOR FABRICATION
REV| BY DATE DESCRIPTION APP
REVISION HISTORY
GENERAL NOTES:
VATERIALS: MILLER INDUSTRIES BT AlD CONFIOENTIAL
- ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.0. 3070 W. THOMPSON RD. DRAWING IS THE SOLE PROPERTY
- ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O. FENTON, Ml 48430 REPRODUCTION IN PART OR
- ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O. PH: 810.373.0322 FAX: 810.373.0326 | S WHOLE wiTHoUT THE wRiTTEN
HC—)fIE.gOTHER MATERIAL TO BE ASTM-A36 U.N.O. www._mille.com PR S O R INDUSTRIES
: - ALL HOLES ARE 13/16" DIA. UN.O. )
HHLESS QI HERTISENOTED - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N TITLE: - P6700 CONVEYORS DRAWN BY: AH
o (SHEAR BEARING TYPE CONNECTIONS) WITH BOLTS
I INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED. CAMPUS BUILDING CHECKEDBY:| CW
FRACTIONS = £1/16 " kELS WELDS TO BE "E70XC (PER AWS D1.1) CLIENT: VOLVO .
ANGLES = +1°/30' PAINT: ' ' DWG DATE:  |8/19/22
BREAK ALL SHARP EDGES - PAINT PER CUSTOMER SPECIFICATIONS U.N.O. . .
DO NOT SCALE DRAWING - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS UN.O 22096

J:\Job #1875\New Job Drawings\Details\1875D134.dwg



	1875D100 - REV F.pdf
	1875D101 - REV C
	1875D102 - REV A
	1875D103 - REV C
	1875D104 - REV B
	1875D105 - REV B
	1875D106 - REV A
	1875D107 - REV A
	1875D108 - REV B
	1875D109 - REV B
	1875D110 - REV B
	1875D111 - REV C 
	1875D112 - REV A 
	1875D113 - REV C
	1875D114 - REV B
	1875D115 - REV E
	1875D116 - REV C
	1875D118 - REV B
	1875D119 - REV B
	1875D120 - REV A
	1875D121 - REV B
	1875D122 - REV B
	1875D123 - REV B
	1875D124 - REV B
	1875D125 - REV C
	1875D126 - REV A
	1875D127 - REV B
	1875D128 - REV C
	1875D130 - REV A
	1875D131 - REV A
	1875D132 - REV B
	1875D133 - REV B
	1875D134 - REV B



